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ABSTRACT

MISSING VERBS IN YES/NO QUESTIONS: GAPPING OR RIGHT NODE
RAISING?

Kose, Engin
M.A., English Language Teaching

Supervisor: Prof. Dr. Martina Gracanin Yiiksek

October 2019, 110 pages

The aim of this thesis is to discuss elliptical Yes-No (YN) questions that contain the
adversative conjunction -ise in Turkish. Although these questions seem to be instances
of backward gapping as the missing element is the verb in such sentences, | show that
that they have only YN question reading (but not alternative reading) and argue that
they are generated via Across-the-Board (ATB) Movement analysis of Right Node
Raising (RNR). | propose that the question particle ml is base-generated as a Focus
head which is higher than the conjuncts. Next, the matrix verb, which is shared by the
embedded clauses, moves in the ATB fashion to a position higher than the question
particle through some form of scrambling. The second aim of this study was to
establish what semantic interpretation L2 learners of English assign to sentences
containing clausal disjunction and whether this interpretation might be influenced by
the interpretation of comparable structures in their native Turkish given that these
sentences in English are ambiguous between Yes-No reading and alternative reading
while sentences in Turkish lack this ambiguity. Considering that there is a Syntax-
Semantics Interface (although it is an internal interface), a problem (a syntactic

transfer, more specifically) in the acquisition of this phenomenon was expected to
\Y



occur for L2 speakers. However, the results suggested that participants were not
affected by their native languages and attested even higher scores on alternative
reading questions.

Keywords: right node raising, across-the-board movement, backward gapping,
elliptical questions
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EVET-HAYIR SORULARINDA EKSILTILI FIILLER: BOSALTMA MI SAG
BUDAK YUKSELTME Mi?

Kose, Engin
Yiiksek Lisans, Ingiliz Dili Ogretimi

Tez YoOneticisi: Prof. Dr. Martina Gracanin Yiksek

Ekim 2019, 110 sayfa

Bu tezin amaci Tiirkce’de eksiltili -ise ¢elistirici baglacini iceren Evet-Hayir sorularini
incelemektir. Bu tip sorular, climlelerdeki eksiltili 6genin fiill olmasi1 sebebiyle
baslangicta geri dogru bosaltma oOrnekleri gibi goziikmektedir. Ancak ben bu
ciimlelerin sadece Evet-Hayir okumalariyla yorumlanabilecegini, segenekli okumanin
miimkiin olmadigini ve bu sebeple de Sag Budak Yiikseltme (SBY) yapisinin Baglak
Disina Tasima analiziyle agiklanabilecegini iddia etmekteyim. Bu yapidan yola
cikarak, Tirkge’de soru parcacigit mI’nin odak Obeginin basit olarak baglaklarin
tizerinde tiiretildigini, ayrica bu yapilarda baglaklar tarafindan paylasilan fiillerin de
baglak disinda tiireyen ml soru parcaciginin iizerinde bir noktaya bir tiir ¢alkalama
yoluyla tasindigini ileri siirmekteyim. Calismanin ikinci amaci olarak anadili Tiirkge
olan ve ikinci dil olarak ingilizce dgrenenlerin bahsi gecen yapilar i¢in ne tiir anlamsal
yorumlalar yaptiklarmi ve bu yapilarm Ingilizce’deki sdzdizim 6zelliklerinden ne
derece etkilendiklerini arastirdim. Ingilizce’deki anlamsal bulanikligin Tiirk¢e’deki
yapilarda bulunmamasi sebebiyle sézdizim-anlambilim arakesitinin  ortaya
cikabilecegini ve bu farkliligin ingilizce dilinin ediniminde bazi problemlere yol

acabilecegini 6ngordiim. Ancak ¢alismada elde edilen bulgular, katilimcilarin diller
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arasindaki sozdizimsel farkliliktan etkilenmedigini ve se¢enekli yorumlamalarin da en

az evet-hayir yorumlamalari kadar yiiksek oldugunu gosterdi.

Anahtar Kelimeler: sag budak yiikseltme, baglak disina tasima, geri dogru bosaltma,

eksiltili sorular
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CHAPTER 1

INTRODUCTION

In this thesis, | discuss elliptical yes-no (YN) questions that contain the adversative

conjunction —(y)sA/—ise! in Turkish. An example of such a question is given in (1).

1) Ali elma, Ayse ise  armut mu yedi?
Ali apple Ayse as-for pear Q eat-PST
‘Did Ali eat apples and Ayse pears?’

In addition to —(y)sA/-ise, the sentence in (1) contains two subjects (Ali and 4yse) and
two objects (elma ‘apple’ and armut ‘pear’), suggesting that the structure contains a
conjunction (disjunction) of clauses, but at the same time, it contains only a single verb
(yedi ‘ate’), construed with both conjuncts. Thus, the derivation of (1) must involve a
mechanism by which the verb is pronounced only once, but is interpreted twice.

Moreover, the sentence in (1) is puzzling because of the following two reasons:

i. It seems to have the reading where the question particle ml has a wide
scope; In other words, ml scopes over both conjuncts.
ii.  The question particle ml, positioned immediately preverbally, occupies a

position from which it should not be able to scope over both conjuncts.

In what follows, | discuss each of these considerations in turn.

L1 am going to call ise an adversative conjunction and | am going to assume that it is base generated in
the same position as ve ‘and’, that it takes one conjunct in its specifier and the other one in its
complement. However, | remain agnostic as to the mechanism that places ise on to the subject of the
second conjunct.



What indicates that in (i) ml scopes over both conjuncts is the fact that (1) contains
only one question about two events, as schematized in (2), rather than two separate

questions about a single event each, as shown in (2).

2) a. [p&qg]+ml
b. #Hp+m]&[g+ml]

According to (2) then, the interpretation of (1) is the one given in (3), and not
the one in (3).

3) a. ‘Is it the case that Ali ate apples and Ayse ate pears?’
b. #‘Is it the case that Ali ate apples and is it the case that Ayse ate pears?’

Given the meaning of the question in (1), its syntactic representation should be

as follows:2

4)

In (4), ml c-commands both TP conjuncts and thus takes the widest scope in the
sentence. ml is the clitic through which Turkish forms YN questions (Kornfilt, 1997;
Lewis, 1965). While ml can behave purely as a question particle (in a sentence where
it functions as the marker of sentential interrogation), as in (5), it can also have just
one constituent in its scope and mark emphasis on it, as in (6) (Kornfilt, 2000: 191).

5) Ali diin geldi mi?
Ali yesterday come-PST-3SG Q
‘Did Ali come yesterday?’

6) Ali mi diin geldi?

ZHere and in the rest of the thesis | represent coordination as symmetric for simplicity without attaching
any theoretical importance to this choice.



Ali Q yesterday come-PST-3SG
‘Was it ALI® who came yesterday?’

In direct YN questions, the clitic ml attaches to the predicate when the entirety of a
proposition is questioned (Goksel & Kerslake, 2005: 251). In such cases, ml has the
whole sentence in its scope, which results in a wide scope reading, indicated by the
translation in (5) (Kornfilt, 1997). ml can also attach to phrases other than the
predicate. In such cases, it takes only one constituent in its scope, which results in a

narrow scope reading, as in (6) (Kornfilt, 1997).

However, the wide scope reading also arises when ml is placed on the immediately
preverbal constituent as in (8) (Kamali, 2011; Gracanin-Yuksek and Kirkici, 2016).
Thus, when ml is placed immediately preverbally, the question has two readings. In

that position, the question particle ml can:

i. take the whole sentence in its scope,
ii. scope only over the constituents that immediately precedes it, namely diin

‘yesterday’.
8) Ali diin mii geldi?
Ali yesterday Q come-PST-3SG
‘Did Ali come yesterday?’ wide scope reading
‘Was it YESTERDAY that Ali came?’ narrow scope reading

This brings us to the second puzzling property of (1), that is, the fact that it contains a
single ml, placed on the immediately preverbal constituent, namely the object, in the
second conjunct. This linear placement of ml may reflect several structural positions

of ml:

I ml could be placed on the object phrase of the second conjunct itself (armut
‘pear’), as in (9),
ii. ml could be placed on the VP of the second conjunct, as in (10), or on the

vP of the second conjunct, as in (10)

3 Focused constituents are capitalized here and in the remainder of the thesis.
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9)

TP & P
T T
Al VP yedi VP yedi
/\ | Ayse /\ b
/ /
armut ml
10) a.
TP & P
T T
Ali VP yedi FocP yedi
/\ | Ayse ;
/ [
elma ye / VP ml I
.7 ]
/\ /
/
armut ye /
\ //
b.
/L\
TP TP

I
| .
[ VP yedi FocP yed
| I
e TN
\
T vP I Ayse vP m
\\\__// /\ : /| |
| / !
VP ye | vP /
/\ [ 'I /\ //
I /
| Ayse
elma y\e__/// "~ /\/P\ -y;:e///
/
armut ye o/
\_~



The meaning of the question, however, suggests that none of the above possibilities is
correct. The position of ml is likely not on the object in the second conjunct, as in (9),
because if that were the case, ml would scope only over the object in the second

conjunct, and the reading would be as in (11):
11)  #°Ali ate apples and is it PEARS that Ayse ate?’

It is not likely that ml is placed on the vP/VP of the second conjunct either (as in (10))
because if it were, it would take wide scope in the second conjunct only (taking into

its scope the vP/VP of the second conjunct), and the reading would be the one in (12).
12)  #°Ali ate apples and is it the case that Ayse ate pears?’

Given that ml scopes over both conjuncts (which are presumably clausal), its position
seems to be C. However, given that the verb construed with the subject in each
conjunct (yedi ‘ate’) follows ml, it is hard to see how ml could occupy the C position
since the verb itself would then have to occupy an even higher position, which does
not seem likely.

Given all these considerations, the derivation of sentences like (1) must reconcile the
fact that the meaning of the question indicates a high position of ml with the fact that
the linear placement of ml suggests that it occupies a low position. Furthermore, the
analysis must explain how the verb, which is interpreted in each conjunct, ends up
being pronounced only once. In the remainder of the thesis, | will argue that in (1), ml
is base generated as the head of FocP above both conjuncts, and that there is Across-
the-Board (ATB) Movement of the verb to a position which is outside of the
conjunction and higher than ml, as shown in (13).



CP

FocP C

TP
Foc
ml

TP TP
Ali T Ayse T
VP yedi VP yedi
/\ | /\ |
elma : ‘ armut ye !
- — — \

The analysis | propose, given in (13), derives the fact that Turkish questions involving
an adversative conjunction —ise, but missing the verb in the first conjunct receive only
a YN interpretation, but lack an alternative interpretation.* In other words, the

sentence in (14) has the YN reading in (14), but not the alternative reading in (14).

14)  a. Ali okula Ayse ise eve mi gitti?
b. Is it the case that Ali went to school and Ayse went home? v"YN reading

c. #ls it the case that Ali went to school or that Ayse went home?

*alternative reading

Comparable sentences in English, however, are ambiguous between the two readings.
Thus, the question in (15), which also has two clausal conjuncts and a missing verb in

one, has both the YN reading in (15) and the alternative reading in (15).

15) a. Did John go to school or Mary home?
b. Is it the case that John went to school and Mary went home?  v"Y/N reading
c. Is it the case that John went to school or that Mary went home?

valternative reading

4 See Gra¢anin-Yuksek (2016) for an analysis of alternative questions in Turkish, where she argues that
they involve the coordination of interrogative CPs, with a question particle in each.
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In the remainder of the thesis, | will first present relevant theoretical background
necessary to understand the properties of questions like that in (1), as well as lay the
basics for the proposed analysis. | will do that in the next chapter, Chapter 2. In Chapter
3, | will motivate the analysis proposed and argue against plausible alternatives.
Finally, in Chapter 4, | explore possible effects on L2 acquisition of the fact that
Turkish questions like that in (1), which are superficially very similar to English
questions like that in (15), do not share structural similarities with them. This results
in different interpretations available to the construction in the two languages and this
interpretive difference might have consequences for L2 acquisition of such questions
in English by native speakers of Turkish. This question is experimentally explored in

Chapter 4 of the thesis. Chapter 5 is the conclusion.



CHAPTER 2

BACKGROUND

To analyze the puzzle from the previous chapter, | begin with the observation that
questions like (1) in the first chapter, repeated here as (16), are likely related to
statements like that in (17) below, which have been analyzed as involving backward
gapping (Bozsahin, 2000; Ince, 2009; Kornfilt, 1997). Sentence (16) is different from
(17) in that while (16) is a polar question, (17) is a declarative sentence.

16) a. Alielma, Ayseise  armut mu yedi?
b. Ali apple Ayse as-for pear Q eat-PST
‘Did Ali eat apples and Ayse pears?’
17)  a. Alielma, Ayseise  armut yedi.
b. Ali apple Ayse as-for pear eat-PST

Before moving on to gapping structures in polar questions, I will first discuss gapping

in declarative sentences.
2.1. Gapping

Gapping, a term that Ross (1970) introduced to the literature, is a process which takes
place only in coordinate structures, and the missing element is always a verb no matter
what the language under investigation is. Gapping allows the verb to go unpronounced
in one or more of a series of conjuncts in coordination if its content can be recovered
from the other conjunct(s) (Johnson, 2004: 1). An example to illustrate gapping in
English is given in (18).

18)  John ate apples, and Mary bananas.



In such sentences, one of the occurrences of the verb can be missing since its content

IS recoverable from the other conjunct.

Gapping can be derived in two different ways; Citko (2018: 1) summarizes them as

follows:

While gapping operates forward in head-initial languages, it operates
backward in head-final languages. In addition to these, in languages
with (relatively) free word order, it can operate in either direction.

In the following list,® all possible outputs of gapping can be seen:

19) a TypeA: SVO+SO

b.Type B: SOV +SO Forward Gapping

c. Type C: SO + SOV
d. Type D:  *SO + SVO

Backward Gapping

In the next two subsections, I discuss gapping in English and in Turkish.
2.1.1. Gapping in English

Ross (1970: 250) indicates that “gapping is a rule that operates to delete indefinitely
many occurrences of a repeated main verb in a coordination structure.” He points out
that languages like English show only forward gapping in the form of SVO and SO
(deletion of the identical verb in the second conjunct). The rule of gapping in English
is considered as a transformation which converts sentences like those in (20) into

corresponding sentences like those in (21).

20)  a. | ate fish, Bill ate rice, and Harry ate roast beef.
b. Tom has a pistol, and Dick has a sword.
21)  a. |l ate fish, Bill rice, and Harry roast beef.

b. Tom has a pistol, and Dick a sword.

5 Ross’s (1970) classification of gapping patterns.



Johnson (2004) states that, unlike many other syntactic operations, Gapping does not
respect constituency. Examples in (22) illustrate this.

22)  a. Some gave albums to their spouses, and others gave tapes to-their-spouses:
b. Some went out to buy beer, and others went-eutto-buy fried chicken.

In addition to the instances of gapping in (20) and (21) where we elide only one word
(ate in (20) and has in (21)), it is possible to elide more than one word, as shown in
(22). However, Johnson (2004) states that material left behind, called remnants, should

be in a contrastive relation with the antecedent, as shown in (23).

23) | wantto try to begin to write a novel, and Mary-wants-te-try-te-begin-to-write
a play.

Otherwise, when there are remnants that are not in a contrastive relation with the

antecedent, sentences are degraded.

24)  a.’l want to try to begin to write a novel, and Mary-wants-to-try-to-begin to
write a play.
b. ’I want to try to begin to write a novel, and Mary-wants-te-try to begin to
write a play.
c. ’1 want to try to begin to write a novel, and Mary wants to try to begin to
write a play. (Ross, 1970: 250)

To eliminate this degradation, the contrastive relationship which gapping invokes must
be satisfied, as in (25).

25) a. | want to try to begin to write a novel, and Mary-wants-te-try-to-begin to
review a play.
b. I want to try to begin to write a novel, and Mary-wants-to-try to set out to
review a play.
c. I want to try to begin to write a novel, and Mary wants to get ready to set out
to review a play. (Ross, 1970: 250)

& Although there is no degradation in these sentences, Johnson (2009) indicates that there is an
awkwardness since there is lots of contrasting material with the antecedent.

10



Although it is possible to have big gaps as in (23), Johnson (2004) also states that there
is a lower bound on the number of remnants following gapping, which suggests that
there should be at least two remnants in the second conjunct. Otherwise, the sentence

yields an ungrammatical result, as in (26).”

26)  a. *Sarah left and Betsy.
b. *Sarah ate them and Betsy. (Johnson, 2004: 3)

Since only forward gapping is allowed in languages with government to the right
(SVO, VSO) (Krisch, 2009: 194), English, as a head-initial language, is a language in
which backward gapping does not occur felicitously. The example in (27) shows the
ungrammaticality of backward gapping structures in English.

27)  a.John loves apples and Mary loves bananas.

b. *John apples and Mary loves bananas.

While Ross (1967), Hartman (2001), Wexler & Culicover (1980), and Wilder (1997),
among others adopt an ellipsis analysis of gapping in coordination structures where
the second occurrence of any verb or verb phrase is missing, Johnson (2004, 2009), on
the other hand, argues for the Across-the-Board (ATB) Movement analysis of

Gapping. Before turning to this analysis, I briefly introduce ATB movement.

ATB movement is apparent simultaneous movement of an element from multiple
source positions to a single target position (Franks & Bosovic, 2000). It can be both
rightward, as in (28), where the object your birthday cake moves to the right of the
coordination, or leftward, as in (29), where both the auxiliary did and the wh-phrase
what move simultaneously from both conjuncts to the CP layer of the clause.

28) a. |l ate and Bob tasted your birthday cake.
b.[[late __ ]and [Bob tasted ] your birthday cake.]

" It is also noted that these sentences can be improved with a suitable context and with the integration
of too. Johnson (2004) exemplifies it with the following context:

A: Who left?

B: Sarah left, and Betsy, too.

11



s T

TP & DP

/\ /\

! TP and TP A
ate DP Bob vp your birthday cake

A tasted/\DP
e N
yeur-birthday-cake

29) a. What did Mary read and Bob burn?
b. [[What did [Maryread __ ]and [Bob burn __ ]7]

C.
CP
What /(:\

C TP

did |
| TP and TP
| Mary T Bob T
| did VP el VP
: | read  what | burn  what
| |
|

ATB Movement is the only kind of movement allowed to take place out of a coordinate
structure, even though it violates the Coordinate Structure Constraint (CSC) (Ross
1967).

12



Coordinate Structure Constraint (CSC) prohibits the extraction of a conjunct or of an
element from a single conjunct when it is in coordination with another conjunct in a
sentence. When CSC is violated, the sentences become illicit (Ross 1967, Salzman,
2012). This constraint accounts for the ungrammaticality of sentences like (30) and
(31):

30)  *What is John eating bread and __ ?
31)  *Which book did John give __ to Mary and stole the paper from Gary?

CSC violations are obviated in ATB movement because identical material is extracted
from both/all conjuncts. However, when this is not the case, as in RNR sentences like
(32) and (32), ungrammaticality obtains.

32)  a. *?[Josh was looking for the dean’s office],[ Maria was waiting in Jeoss’
office], and [reporters were trying to find Jess>effiee], Joss’ office.
b. *[Josh was looking for Jess>effiee], [Maria was waiting in the dean’s office],
and [reporters were trying to find Jess~effiee} Joss’ office.
(Sabbagh, 2007: 376)

In (32), the DP Joss s office is moved from the second and third conjunct, but not the
first conjunct, while in (32), the DP Joss'’s office is moved from the first and the third
conjunct, but not the second conjunct. As ‘Joss’ office’ is not extracted from all

conjuncts, the sentences are ungrammatical.

However, when an argument is shared by all the conjuncts in a coordination structure,
it is possible to move it and adjoin it outside of the conjuncts. In sentence (33), the
pivot, namely Joss’ office, is moved to the rightmost position and is associated with
the gap in each conjunct obviating a CSC violation as the shared object is extracted

from all of the conjuncts.

33)  [Josh was looking for Jess™effiee], [Maria was waiting in Jess™effiee], and
[reporters were trying to find Jess™~effiee], Joss’ office. (Sabbagh, 2007: 376)

With this much in mind, let us return to gapping. On Johnson’s (2009) ATB analysis
of gapping, gapping does not involve deletion at all, but rather leftward ATB

movement of the verb from both conjuncts to a position outside the coordination. This
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movement is accompanied by the A-movement of the subject of the first conjunct to a
position to the left of the ATB-moved verb. This is illustrated in (34).

34)  a.John likes coffee and Mary tea.

b.
TP
/\
John; T
/\
T XP
/\
X VP
likes; /\
VP ConjP
/\ /\
t; V& and VP
/\ /\
t  coffee Mary Vv’
/\
t; tea

(Frazier and Yoshida, 2012: 11)

Johnson’s ATB movement analysis completes the discussion of gapping in English.

Next, | will discuss gapping in Turkish.
2.1.2. Gapping in Turkish

In contrast to some other verb-final languages like Japanese, Turkish allows both
forward and backward gapping (Kornfilt, 2000). I discuss them in turn in the following

subsections.
2.1.2.1. Forward Gapping in Turkish

An application of forward gapping in Turkish is shown in sentence (36), which is

identical to sentence (35) except that it features a missing verb in the second conjunct.

35) Hasan  Kkaridesi yedi, Mehmet def/ise istiridyeyi  yedi.
Hasan shrimp -ACC eat -PST Mehmet and/as for oyster —~ACC eat —-PST

‘Hasan ate the shrimp, and Mehmet ate the oyster.’
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36) Hasan  Kkaridesi yedi, Mehmet de/ise istiridyeyi.
Hasan shrimp -ACC eat -PST Mehmet and/as for oyster —~ACC
‘Hasan ate the shrimp, and Mehmet (ate) the oyster.’
(adapted from Kornfilt, 2000:1)

The grammaticality of sentence (36) shows that in Turkish, forward gapping can occur
in matrix clauses. Sentence (37), on the other hand, shows that forward gapping cannot

occur in complement clauses.

37)  *Ahmet [[Hasan-in  g¢ikolata-y1 yedigini] [Mehmet-in  (de) armud-u]]
Ahmet [[Hasan-GEN chocolate-ACC eat-]  [Mehmet-GEN also pear-ACC]
biliyor.
knows.
‘Ahmet knows that Hsan ate the chocolate and Mehmet the pear.’
(Ince, 2009:2)

The sentence improves if the rightmost conjunct extraposes to a position after the

matrix verb.

38)  Zeynep [Hasan’-in karides-i ye-digini] duy -du [Mehmed’-in
Zeynep Hasan-GEN shrimp-ACC eat hear-PST Mehmet — GEN
de istiridye-yi.]
and oyster-ACC
‘Zeynep heard that Hasan ate shrimp and Mehmet the oyster. (Ince, 2009:5)

Kornfilt (2000), as cited in Gracanin-Yiiksek (2016), explains the contrast between
(37) and (38) as follows: Turkish prohibits the generation of embedded clauses that
are not verb-final ([Mehmet'in de armudu]) when they are followed by a material
which belongs to the matrix clause (biliyor), as in (37). In (38), on the other hand, the
sentence yields a grammatical result since even though the embedded clause is not

verb-final, there is no matrix material which follows it.

The second peculiarity of forward gapping is that it does not require parallel word
order in the two conjuncts (Bozsahin, 2000). Sentences (39) show that forward gapping
structures yield grammatical results regardless of the order of constituents across

conjuncts.
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39) a. Adam kitab1 okudu, cocuk da  dergiyi. (SOV & SO)
man book-ACC read-PST  child CONJ magazine-ACC

‘The man read the book, and the child, the magazine.’

b. Kitab1 adam okudu, dergiyi de  c¢ocuk. (OSV & OS)
book-ACC man read-PST mag.-ACC CONJ child
c. Adam kitab1 okudu, dergiyi de  c¢ocuk. (SOV & 0OS)

man book-ACC read-PST mag.-ACC CONJ child
d. Kitab1 adam okudu, c¢ocuk da dergiyi.
Book-ACC man read-PST child CONJ mag.-ACC (OSV & SO)
(Ince, 2009: 2)

In the next section, I discuss backward gapping in Turkish, which displays somewhat

different properties.
2.1.2.2. Backward Gapping in Turkish

In addition to forward gapping, backward gapping structures are also present in
Turkish. A backward-gapped version of sentence (35), repeated here as (40), is given
in (41).

40) Hasan  karidesi yedi, Mehmet de istiridyeyi  yedi.
Hasan shrimp -ACC eat -PST Mehmet and oyster —~ACC eat —-PST
‘Hasan ate the shrimp, and Mehmet ate the oyster.’
41) Hasan karidesi, Mehmet de istiridyeyi  yedi.
Hasan shrimp -ACC Mehmet and oyster —~ACC eat —-PST
‘Hasan (ate) the shrimp, and Mehmet ate the oyster.’ (Kornfilt, 2000: 1)

Hankamer (1971, 1972), Kornfilt (2000), and Ince (2009) argue that backward gapping
differs from forward gapping in terms of syntactic processes involved based on several

considerations that | discuss next.

First, unlike forward gapping, backward gapping can occur in complement clauses, as
shown in (42).

42)  Ahmet [[Hasan-in  ¢ikolata-yi1] [Mehmet-in  (de) armud-u  yedigini]]
Ahmet Hasan-GEN chocolate-ACC Mehmet-GEN also pear-ACC ate
16



biliyor.
knows.
‘Ahmet knows that Hasan ate the chocolate and Mehmet the pear’

(Ince, 2009: 2)

Additionally, unlike forward gapping, backward gapping requires parallel word order
across conjuncts (Bozsahin, 2000). Sentences (43) illustrate this requirement.

43)  a. Adam kitabs, cocuk da dergiyi okudu. (SO & SOV)
man book-ACC child CONJ magazine-ACC read-PST
‘The man read the book, and the child, the magazine.’
b. Kitab1 adam, dergiyi de cocuk okudu. (0OS & 0OSV)
book-ACC man magazine-ACC CONJ child read-PST
‘The man read the book, and the child, the magazine.’

c. ¥*Adam kitabu, dergiyi de  ¢ocuk okudu. (*SO & OSV)
man book-ACC magazine-ACC CONJ child read-PST
d. *Kitab1 adam, cocuk da  dergiyi okudu. (*OS & SOV)

book-ACC man child CONJ magazine-ACC read-PST (Ince, 2009: 2)

Based on these syntactic differences, Hankamer (1971) proposes that the two instances
of gapping are different. While forward gapping genuinely "gaps™ into the right
conjunct, leaving a gap in the position of the identical element, backward gapping, by
contrast, erases both instances of the identical element and adjoins a copy to the top IP
(or CP). On Hankamer’s analysis, backward gapping in Turkish is derived as in (45)
below.

44)  a.Hasan karidesi, Mehmet de istiridyeyi  yedi.
Hasan shrimp -ACC Mehmet and oyster —~-ACC  ate
b. [[Hasan karides -i yedi], [ Mehmet te istiridye —yi yedi] yedi.
‘Hasan (ate) the shrimp, and Mehmet ate the oyster.’ (Kornfilt, 2000:1)
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45)

/\

TP yedi

/>\

TP & TP

N AN

Hasan karidesi yedt Mehmet istiridyeyi yeeh

The derivation in (45) involves an instance of rightward ATB movement of the verb
from both conjuncts to a position higher than the coordination. This is reminiscent of
Right Node Raising (RNR), which, at least on some analyses, is derived in the same
way. In fact, there have been proposals (Ince, 2009) that reduce backward gapping in
Turkish to RNR. In the next section, I discuss various analyses that have been proposed
for RNR.

2.2. Right Node Raising

Right Node Raising is an operation in which a part of the shared material in
coordination structures, namely the pivot, is unpronounced (Bachrach & Katzir, 2007).
An example of RNR is given in sentence (47), which corresponds in meaning to

sentence (46).

46)  John bought the book and Mary read the book.
47)  John bought and Mary read the book. (Wilder, 1999: 1)

RNR is subject to the so-called Right Edge Restriction, which dictates that shared
material x must be located at the right edge of their non-final conjuncts (Wilder 1999,
2008; Oehrle 1991; Sabbagh 2007).8 In English, this position, the right edge position,
is typically occupied by an object, and in RNR it is unpronounced in the first conjunct.

8 However, when the shared element is overt in the second conjunct, it does not have to be in the
rightmost position of the sentence as in (i).

(i) a. John should fetch __ and give the book to Mary.
b. John [should fetch the book] and [give the book to Mary]. (Wilder 2008: 244)
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This is illustrated in (48), where the shared material all the winners is part of both
conjuncts and is located at the right edge of each.

48) lgaveapresentto _ and congratulated all the winners.
(Bachrach & Katzir, 2007: 1)

In Turkish, the right edge position is typically occupied by a verb, as shown in (49).

49)  Ahmet hediye __, Sevgi para verdi.
Ahmet present __ Sevgi money gave

‘Ahmet (gave) a present, Sevgi gave money.’

This is why sentences that feature what looks like backward gapping in Turkish, such
as (44), can be reduced to RNR.®

The correct analysis of RNR remains controversial regardless of the language. This
syntactic construction has been analyzed in three different ways, which fall either into
the family of ex-situ analyses or into the family of in-situ analyses, each with
characteristics listed below.

50) a. In the ex-situ analysis, shared elements are analyzed as being outside both

conjuncts:

I Across-the-Board Movement (Ross 1967; Hankamer 1971, 1972; Postal
1974, 1998; Bresnan 1974; Sabbagh 2007).

b. In the in-situ analyses, shared elements are analyzed as remaining inside both

conjuncts:

i PF-Ellipsis (Wexler & Cullicover 1980; Hartmann 2001; Wilder 1997),

% Ince (2009) argues that, in contrast with English, Wilder’s Right Edge Generalization does not hold in
Turkish. He provides the following example to illustrate:

() Hasan Tolgaya dergiyi satt1, Meral de gazeteyi satt1 Tolgaya.
Hasan Tolga-DAT magazine-ACC sold, Meral as for newspaper-ACC sold Tolga-DAT
‘Hasan sold the magazine, and Meral sold the newspaper, to Tolga.’ (Ince, 2009: 12)
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il. Multiple Dominance (McCawley 1982; Levine 1985; Bachrach & Katzir
2007; Wilder 1999)

In the following section, | discuss each of these analyses in turn.
2.2.1. Across-the-Board (ATB) Movement Analysis of RNR

Recall from section 2.1.1 that ATB Movement is movement that takes two identical
elements from the two conjuncts and adjoins them to some position outside of the
coordination. When applied to RNR sentences, ATB Movement gives us (28), repeated
here as (51).

51) a.late and Bob tasted your birthday cake.
b.[late ___ ] and [Bob tasted ] [your birthday cake.]

C.
/&P/\\
TP & DP
/\ /\
/\ /\ -
ate DP B8ob P your birthday cake

In the ATB Movement analysis of RNR, the object, which is shared by both conjuncts,
in this case your birthday cake (also called the pivot), moves out of both conjuncts and
right adjoins to a position where it is external to the coordinate structure (Sabbagh,
2007).

Rightward movement in English is known to be subject to a very strict locality
restriction, and is not allowed freely. To illustrate how strict the requirement is,

Sabbagh (2007) gives the following examples.
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52)  Josh [w returned _ to the library for Jamie], each of the books she checked out
last week.

53)  Josh will [vr eat _ raw], almost anything you give him.

54)  *Max said that he was going to [vr return _ to the library] yesterday, each of
the books that he checked out last week.

55)  *Jamie walked [pr into ] suddenly, the dean’s office. ~ (Sabbagh, 2007: 350)

Based on (52) and (53), Sabbagh (2007) shows that rightward movement may move
an argument across all vP-internal arguments and modifiers. However, (54) and (55)
are ungrammatical because the NPs each of the books that he checked out last week
and the dean’s office respectively, have undergone a too long rightward movement.
What restricts this movement is the so-called Right Roof Constraint (RRC). RRC states
that rightward movement may move and right-adjoin an element X to the cyclic node
in which X is merged, but no further (Baltin, 1978).1°

RNR constructions are problematic for the RRC because of the grammaticality of
examples like (56), where a DP pivot has been extracted from a PP in each conjunct

in apparent violation of the RRC.

56) a. Joss [walked suddenly [PP into the-dean’s—effice}, and [Maria stormed
quickly [PP out of the-dean’s-office]] the dean’s office.

10°A cyclic node is any node in a tree which belongs to one of certain categories whose domains are
designated as cyclic domains for the application of the transformational cycle (Trask, 1996). S, NP, vP,
and PP are considered cyclic nodes.
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&P
/\&’,’
/\
™ and TP
Joss/\'r’ M;JW{\T’ the dean’s office

! |
|
| /\ 'l /\
| T vP \ T vP

! \

\ PN \ PN

\ Joss v o Mara v

Te—— /\ S /\
\Y VP v VP
/\
VP/\PP VP PP
/\
walked  suddenl /\ stormed  quickly /\
suddenly into  the-deans-office out of the-dean’s-office

As illustrated in (56), the DP pivot in the first conjunct, the dean’s office, is moved
from where it originates all the way to a right-adjoined position outside of the
coordination, across the entire second conjunct, and the sentence is still perfectly
grammatical even though it violates RRC. To account for the grammaticality of
sentences like (56), Sabbagh (2007) entertains three solutions.

The first approach to solve the problem caused by the grammaticality of sentences like
(56) is to reject the ATB Movement analysis and accept the backward deletion analysis

of RNR, also known as PF Deletion, which will be discussed in section 2.2.2.

The second approach to solve the problem is to accept the Multiple Dominance

approach to RNR structures, which will be discussed in section 2.2.3.

The third approach is to re-evaluate the RRC. Sabbagh (2007) opts for this solution.
He argues that the ATB Movement analysis of RNR is correct and hypothesizes that
rightward movement is an unbounded movement rule. He adopts the Cyclic Spell-Out
Model of grammar proposed by Bresnan (1971), and more recently by Chomsky (2000,
2001) among others, according to which Spell-out can take place at various points in
the course of the derivation rather than at a single point. Spell-Out can be defined as
an operation that takes place after the syntactic processes such as Merge, Move and

Agree in aderivation are completed and the outcomes are transferred to the PF (Franks,
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2017). The syntactic elements that are targeted by this operation are called cyclic nodes
or phases. This process is illustrated in (57), in which the wh-phrase to whom moves
from the position of the embedded indirect object to the front of the matrix clause,

moving through the phase (vP and CP) edges.

57)  [Towhom will he [» __say [cp __ that Mary [,»__ gave the book __T1]11?

1 |t | 1 | 1 |
(Fox and Pesetsky, 2004: 3)

Sabbagh follows Fox and Pesetsky (2004), who argue that movement proceeds
successive cyclically because of a general requirement that movement be order-
preserving, i.e., that ordering of a particular element relative to other elements in the
structure at each cycle not contradict the ordering of that element established at a
previous cycle. Based on this, Sabbagh (2007) proposes that RRC does not restrict
how far the constituent actually moves rightwards as long as at each spell-out, the
movement does not cause the reversal in the linear order of material established at a
previous spell-out point (see Sabbagh, 2007 for detailed information). Sabbagh
captures this by proposing the constraint that he calls the Rightward Crossing
Constraint (RCC), given in (58).

58)  Rightward Crossing Constraint

Rightward movement of X may not cross phonologically overt material which is not
contained within the cyclic node (=vP, PP) wherein X is initially merged.
(Sabbagh 2007: 359)

Sabbagh thus convincingly argues for the ATB movement analysis of RNR. In my
analysis of Turkish YN questions that feature backward gapping, I will be relying

heavily on ATB movement as well.
2.2.2. PF-Ellipsis Analysis of RNR

Hartman (2001), Wexler & Culicover (1980), and Wilder (1997) propose that Right
Node Raising (RNR) is not derived by movement. Rather, they argue that RNR

sentences result from an ellipsis operation which deletes a constituent from all non-

23



final conjuncts under identity with an in-situ constituent (i.e., the pivot) which occurs

overtly in the final conjunct. To illustrate, an example is given in (59).

59) a.John likes and Mary hates apples.
b. [[John likes apples] and [Mary hates apples]]

c.
TP/’\TP
i and

John likes apples Mary hates apples

In an RNR construction with the PF-Ellipsis analysis, a string in the sentence-final
position is considered to actually syntactically be part of both conjuncts that precede
it (Swingle, 1993), as illustrated in (59). In the PF-Ellipsis analysis, apples is referred
to as the target of ellipsis in an RNR construction, and the rest of the conjuncts, John
likes and Mary hates are referred to as remnants. Many studies (Wexler & Cullicover
1980; Hartmann 2001; Wilder 1997) argue that PF-Ellipsis is the correct analysis of
RNR structures and prefer it over ATB Movement for several reasons.

The first reason why RNR is considered to involve PF-Ellipsis rather than ATB
Movement is that RNR is not affected by either syntactic or semantic restrictions,
which suggests that it takes place in PF (Hartmann, 2001). Right Node Raising is a
productive coordination pattern in which almost all elements that are positioned at the
right edge of the conjuncts can be targeted by RNR. Although there are studies
(Bresnan, 1974; Reinhart, 1991) stating that targets/pivots in RNR are always
constituents, Abbott (1976) shows that there are some sentences which are inconsistent
with the claim that RNR produces structures in which the targets/pivots always form
a constituent. Sentences (60) and (61) illustrate this for English. In (60), the pivot
involves a string that is not a constituent ([a valuable collection of manuscripts] [to
the library]) and the same is true of (61), where the pivot ([20 cakes] [in less than an

hour]) also does not form a constituent.

60)  Smith loaned, and his widow later donated, a valuable collection of

manuscripts to the library.
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61)  Mary baked, and George frosted, 20 cakes in less than an hour.
(Abbott, 1976: 1)

Klein (1981) also argues that in RNR neither the remnants, nor the unexpressed
element has to correspond to a constituent. This is obvious in German examples in
(62), where the pivot of RNR involves the string Mutter helfen ‘mother help’, where
Mutter is part of the object DPs seiner Mutter ‘his mother’ and ihrer Mutter ‘her
mother’ respectively, and is RNR-ed together with the main verb helfen ‘help’.
Moreover, neither of the two remnants Fritz soll seiner ‘Fritz should his’ (remnant)

and Mutter helfen ‘mother help’ forms a constituent.

62)  Fritz soll  seiner (Mutter helfen) und Gabriele soll  ihrer Mutter helfen.
Fritz should his  (Mother help) and Gabriele should her Mother help.
‘Fritz should (help his mother) and Gabriele should help her mother.
(Klein, 1981:59)

Moreover, even smaller units, such as morphemes, can also be targets of RNR (Booij,

1985). Huddleston et al. (2002) provides examples for such structures:

63)  Itis neither unpatrietic nor overly patriotic to tread that path.
64)  The ex-smekers or current smokers had a higher blood pressure.

As constituency is important for syntactic movement, these examples argue against the

ATB Movement analysis of the construction.
2.2.3. Multiple Dominance Analysis of RNR

Just like the PF-Ellipsis analysis of RNR, Multiple Dominance (MD) analysis of RNR
also argues against movement. McCawley (1982), Levine (1985), Blevins (1990),
Wilder (1999) and many others argue that in RNR, there is only one shared element x
which happens to be in two places at once, and nothing can happen to x in one conjunct
unless the same thing happens to x in the other position in a coordinate structure.
Sentence (59), repeated here as (65), is analyzed in (59) in a Multiple Dominance

fashion.

65) a. John likes and Mary hates apples.
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TP
TP and TP
/\ /\
John T Mary T
T T
likes VP hates VP

' |

|

l\ fike \  hate apples
\__,I o=

Wilder (1999) states that multiple dominance view differs from PF ellipsis and ATB
Movement in the number of copies of the pivot in the construction. While in the PF
ellipsis and ATB Movement analyses there is a copy of the pivot in each conjunct,
there is only one occurrence of a constituent shared by the two conjuncts in Multiple

Dominance.

Previous accounts in syntax indicate that syntactic trees should not involve crossing
branches as they violate the Non-Tangling Condition (Partee et al. 1990). The Non-
Tangling Condition is given in (66).

66)  Non-Tangling Condition (from Bachrach and Katzir, 2007:6)

i. Discontinuous constituents are not allowed.

ii. There should not be multiple dominance trees.
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Thus, Multiple Dominance can occur only if (66) is abandoned. In that case, Internal
Merge — or movement — is no longer viewed as an operation that creates a copy of the
moving element and merges the copy in a new position (as is the case in the Copy
Theory of Movement (Chomsky, 1993)), but rather as an operation where no new
copies of the moving element are created and the only existing copy is remerged into
a new position, thereby becoming dominated simultaneously by two mothers. This
type of Merge is called Internal Remerge by DeVries (2005), and vertical sharing by
Gracanin-Yuksek (2007). Sentence (67) shows wh-movement represented in a multi-
dominant fashion.

67)  a. She asked what Sally read what-

N

She

DP
what

(Bachrach and Katzir, 2007:6)

Sentence (68) also shows Merge that creates MD representations, but this time the
shared DP, a book, is dominated by two mother nodes that are part of different
conjuncts. This is called Parallel Merge by Citko (2005), External Remerge by
DeVries (2005) and horizontal sharing by Gracanin-Yuksek (2007).

68)  a. John bought and Mary read a book.
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TP
/al"]d\
TP TP
John VP Mary VP
bought read DP

a book

(Bachrach and Katzir, 2007:6)

There are several pieces of evidence provided for why the Multiple Dominance
analysis of RNR should be preferred over other analyses of RNR. McCawley (1982)
gives the following example to illustrate how Multiple Dominance analysis is useful
for such sentences. He states that RNR structures change the word order of the
sentences, yet this change does not seem to cause any alteration in the constituent
structure. To capture these contradicting properties of RNR, he proposes the

discontinuous structure in (69) as an alternative to be preferred to the structure in (69).

69) a. Tom may be, and everyone is sure that Mary is, a genius.
b. S
/S\ and /S\ a genius
NP L' NP V!
Tom V V' everyone V A’
may V is A S
be sure NP V'
(McCawley 1982: 98)
Mary is



be sure

(McCawley 1982: 99)

The second reason why (69) is the preferred analysis of RNR is the interaction of RNR
with relative clauses. This is shown by (70). (70) suggest that the pivot of an RNR
operation is not completely detached from the complex NP. Rather, the relative clause

behaves as if it remained inside the syntactic island, out of which extraction is banned.

70) a. Tom bought a can opener ti and Alice bought a dictionary ti [that once
belonged to Leonard Bloomfield];.

b. *[Which linguist]i did Tom buy a can opener t; and Alice buy a dictionary t;
[that once belonged to ti];? (McCawley 1982: 101)

Multiple Dominance analysis of RNR seems applicable at this point as it predicts that
nothing can move out of the relative clause, because, since the pivot never moves, it
never ceases to be a syntactic island. Instead, that were once owned by Leonard
Bloomfield is dominated by two different nodes, namely the NPs that also dominate
the NPs can opener and dictionary.

Considering all this evidence, several scholars (McCawley 1982; Levine 1985;
Bachrach & Katzir 2007; Wilder 1999; among many others) prefer Multiple

Dominance analysis over ATB Movement and PF-Ellipsis of RNR.
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With this much in mind, we are now in a position to return to backwards gapping in
Turkish and evaluate whether it is an instance of RNR, as suggested by Ince (2009).

2.3. Backwards Gapping in Turkish = RNR?

It is not clear whether sentences with backward gapping in Turkish are instance of
RNR or gapping proper because in head-final languages like Turkish, the missing
element in RNR happens to be a verb (given that the verb is typically the sentence-

final, therefore, the conjunct-final element), and this makes such sentences reminiscent

of gapping.

Recall from Section 2.1.2. that backward gapping and forward gapping in Turkish are
different in terms of parallel word order requirement. While backward gapping
requires a parallel word order across conjuncts, forward gapping does not (as cited in
Ince, 2009). This is illustrated in (71) and (72).

71)  Adam kitab1 okudu, dergiyi de cocuk. Forward gapping
man book-ACC read-PST magazine-ACC as for child
72)  *Kitab1 adam, cocuk da  dergiyi okudu. Backward gapping

book-ACC man child as for magazine-ACC read-PST (Ince, 2009:2)

Thus, Ince (2009) argues that if both forward and backward gapping had the same
derivation (deletion of the verb), one would expect either forward gapping to be subject
to the same word order parallelism requirement or backward gapping not to be subject
to it. Since this is not the case, he proposes that backward gapping in Turkish is actually
RNR and considers the abovementioned three analyses for the derivation of RNR. He
establishes that in Turkish, PF Ellipsis is the only way to derive RNR constructions
and that ATB Movement and Multiple Dominance cannot derive the facts. His
arguments against RNR as ATB Movement and Multiple Dominance include the

following:

- Agreement Properties
- Impossibility of head-adjunction to a phrase
- Impossibility of adjunction to complement clauses

- Availability of long distance RNR
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In the following sections, | discuss each of these arguments in turn.

2.3.1. Arguments against ATB Movement and Multiple Dominance in Turkish
RNR structures

2.3.1.1. Agreement Properties

Ince (2009) states that ATB Movement is unsatisfactory to explain the grammaticality

of sentences like (73), where the verb in the first conjunct is gapped.

73)  a. Sen elmayi, ben armudu yedim.

I I I
b. [[Sen elmay1 yedin], [ben armudu yedim]] *yedin / yedim.

“You (ate) the apple, I ate the pear.’ (Ince, 2009:4)

In (73), the verb ye- ‘eat’ in the first conjunct underlyingly presumably bears the
second person singular agreement while the verb ye- in the second conjunct bears the
first-person singular agreement. However, the surfacing verb can only agree with the

subject in the second conjunct.

Ince (2009) states that ATB Movement analysis does not explain why the verb ye-
agrees only with the subject in the second conjunct and cannot agree with the subject
in the first conjunct. According to Ince (2009), under the ATB Movement analysis,
there should be nothing to block the pronunciation of the copy of the verb from the
first conjunct.!! Ince argues that Multiple Dominance analysis does not explain why
the verb ye- ‘cat’ agrees only with the subject of the second conjunct. He states that
the verb should be able to agree with the subject of the first conjunct as well since

linear precedence does not matter in Multiple Dominance analysis.?

1 It seems to me that an additional problem with ATB movement analysis of RNR concerns the non-
identity of the verbs in the two conjuncts since they bear different morphology. ATB movement,
however, can only apply to instances of identical lexical items.

12 Again, the non-identity of the agreement requirements on the verb in the two conjuncts is a problem

for the MD analysis of such examples: the structure features a single verb and this one verb needs to
agree with multiple subjects, with different ¢-features, which is impossible.
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On the other hand, Kornfilt (2012: 193) states that examples such as (73) are ill-formed
unless the verbs are parallel with respect to agreement inflection. She indicates that
while agreement mismatches are possible in forward gapping, as shown in (74), they

are impossible in backward gapping, as (75) shows®.

74)  [[Kaz-1  sen ye -di-n], [hindi-yi de ben@ ]]
goose-ACC you eat-PST turkey-ACC and |
“You ate the goose and I (ate) the turkey’
75)  *[[Sen kaz-1 ti ], [ben de hindi-yi ti]] [ye-di-m];
you goose-ACC I and turkey-ACC  eat-PST
“You (ate) the goose and I ate the turkey’ (Kornfilt, 2012: 193)

Johnson (2004) indicates that in English, gapping allows a mismatch in the inflectional

class between the gapped verb and its antecedent, but Right Node Raising resists this.

76)  a. He likes beans and you rice.
b. *He always and you sometimes complain. (Johnson, 2006: 410)

Contrary to Ince’s arguments, observations by Kornfilt (2012) and Johnson (2004) are
compatible with the view that RNR/backward gapping in Turkish is actually derived
through ATB Movement since ATB movement requires the two elements to be
identical in order to be extracted from different conjuncts, which is not the case in (75).

2.3.1.2. Impossibility of head-adjunction to a phrase

The next piece of evidence that Ince lists against the ATB movement analysis of RNR
concerns a universal ban against the adjunction of a head to a phrase (Chomsky, 1986).
However, under the ATB analysis of sentence (77), TPs are coordinated and the shared
element, namely the verbal head al, is ATB moved to adjoin the TP. The sentence is
grammatical, which seems surprising as it is not clear how a head (V) can be licitly
adjoined to a phrase (the coordination phrase), as in (77). This, Ince maintains, argues

against the ATB movement analysis of RNR.

13 However, many people actually accept sentences like this. If that is true, it is difficult to see how the
structure can be derived through ATB movement.
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77)  a Ali silgiyi, Ayse ise kalemi ald1.
Ali eraser-ACC Ayse as for pencil-ACC take-PST
‘Ali (took) the eraser, Ayse took the pencil.
b.

&P
&’
TP Conj TP Vi
/\ ISe /\ aldi
Ali VP Ayse VP
silgiyi aldi kalemi ateh

2.3.1.3. Impossibility of adjunction to complement clauses

Ince (2009) also notes that sharing a verb is not restricted to matrix clauses, since
complement clauses with shared verbs are grammatical as well, as in (78). Under the
ATB Movement analysis, this means that the verb -yedigini is adjoined to the

complement clause of the main verb duydu ‘heard’, as seen in (78).

78)  a. Zeynep [[Hasan-in karides-i], [Mehmet-in de istiridye-yi]
Zeynep Hasan-GEN shrimp-ACC Mehmet-GEN as for oyster-ACC
yedigini] duydu.

eat hear-PST

'

‘Zeynep heard that Hasan (ate) the shrimp, and Mehmet ate the oyster.
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TP
Zeynep ™
VP duydu
/\ |
cp duy
/\ “___"7
CcP yedigini
CP o cp
TP c ™ C
T~ i yedigini
Hasan’in ™ | Mehmet’in T |
VP yedi / VP yedi K
N :\___// N o~
karidesi  ye | istiridyeyi  ye |
\__"7 —

However, it is impossible for anything to adjoin a complement clause grammatically
as shown in (79). In (79), the object of the embedded clause Ayse yi, is scrambled to a

position where it is adjoined to a complement clause and the result is ungrammatical.

79)  a. *Ahmet [[Ali-nin optigiinii | Ayse-yi] biliyor.
Ahmet Ali-GEN kissed Ayse-ACC knows. (Ince, 2009: 5)

Thus, (78) should be ungrammatical under the ATB Movement analysis. Since it is

not, Ince (2009) argues that ATB Movement is not the correct analysis for RNR.
2.3.1.4. Availability of Long distance RNR

Finally, Ince (2009) states that another problem for the ATB Movement analysis of
RNR/backward gapping is that some existing contrasts involving embedded clauses
are not predicted on this analysis. Namely, while a shared embedded object can move
to the right of the matrix clause, as in (80), moving an embedded verb to the right of

the matrix clause causes ungrammaticality, as shown in (81).1

80) a. Mehmet’in  pisirdigini Hasan’m  da  yedigini biliyorum elmayu.
Mehmet-GEN cook  Hasan-GEN as for eat know apple-ACC

14 While Ince states that (65b) is grammatical, the sentence seems degraded to me.
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81)

‘I know that Mehmet cooked and Hasan ate, the apple.’
b. [[pro[[Mehmet’in i pisirdigini],[Hasan’inda 1 yedigini]] biliyorum]
elma-y11.]
a. *Hasan’in  Karidesi, Mehmet’in de istiridyeyi duydum
yedigini.
Hasan-GEN shrimp-ACC Mehmet-GEN as for oyster-GEN hear-PST  eat
‘I heard that Hasan (ate) the shrimp, and Mehmet ate the oyster.’
b. *[[pro[[Hasan’in karidesi _ ], [Mehmet’in de istiridyeyi _ ]] duydum]
yedigini. ]
(Ince, 2009: 9)

Based on (80) and (81), it seems that while it is possible for objects to move rightward

(outside of the complement clause), as in (82) below, verbs cannot do so, as (83)

shows.
82)
CP
CP elmay1
TP c
— biliyorum
pro TP /I
/\ !
/
VP bitiyorum 7
J— LS e
cp Bil i
/I\ . /
/CP\ 0 /CP\
TP c TP c
pisirdigini T~ yedigini
Mehmet’in T | Hasan’in T |
T I! /\ //
VP pisirdt / VP yedi s
1 / Nem
N I~mm v N ,
en_PRE_| oo
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83)

/\

TP Cc
T yedigini
pro o
VP duydum
T ]
CP duy /
/I\ M g
cp %) cP
TP C TP C
T~ yedigini
Hasan’in T Mehmet’in T
T | T //
VP yeeht / VP L
/\ l‘\ —_—— / /\ r“ -7
karidesi  ye | istiridyeyi  ye
\___ R

It is not clear why it is possible for objects to be moved long distance movement while
it is not for verbs. The relevant fact is, argues Ince, that it is unlikely for the two

examples to involve the same, ATB movement analysis.

For all these reasons, Ince argues that backward gapping sentences like (84), which he
considers to be instances of RNR, pose problems for ATB Movement analysis and
instead involve PF-Ellipsis. He proposes that the verb in the first conjunct is deleted

under the identity with the verb in the second conjunct.

84)  Alielma, Ayse ise armut yedi.
Ali apple Ayse as for pear eat-PST
‘Ali (ate) apples and Ayse ate pears.’

Arguments by Ince, however, are limited only to declarative sentences and do not
address the derivation of polar questions in backward gapping structures in Turkish,
illustrated in (85), which this thesis focuses on. In the next chapter, | examine these

constructions in detail and propose an analysis.

85)  Alielma, Ayse ise armut mu yedi?
Ali apple Ayse as for pear Q eat-PST
‘Is it the case that Ali ate apples and Ayse ate pears?’
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2.4. Conclusion

In this chapter, we have looked at Turkish sentences that involve coordination but lack
a verb or a verb phrase in the first conjunct. We have seen that while some researchers
analyzed these examples as backwards gapping (Bozsahin, 2000; Ince, 2009; Kornfilt,
1997), some believe that these sentences are instances of RNR (Duman, 2003;
Hankamer, 1971, 1972; Kornfilt, 2019). We have, therefore, reviewed previous

accounts for RNR structures that have been proposed for both Turkish and English.

In what follows, 1 will examine properties of the construction in (85) —the YN question
with a backward gapped/RNR-ed verb — and propose an analysis based on these
properties. According to my analysis, these sentences involve an ATB movement of
the verb to a position outside of the coordination, but are not entirely reducible to RNR

because of the presence of the question particle ml.
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CHAPTER 3

ANALYSIS

Recall from Chapter 1 that sentences like (86) involve adversative conjunction as well
as what looks like backward gapping.

86)  Alieclma, Ayseise  armut mu yedi?
Ali apple Ayse as-for pear Q eat-PST
‘Did Ali eat apples and Ayse pears?’

These structures in Turkish have the properties listed in (87).

87) i. These sentences are questions involving a coordinator -ise and a single
instance of the question particle ml,

ii. ml has a wide scope, i.e., it scopes over both conjuncts, but

iii. the word order suggests that ml occupies a position inside the second

conjunct, from where it cannot take scope over the material in the first conjunct.

The analysis that | propose reconciles all of these properties by positing that ml
originates outside of the conjunction and ends up linearly preceding the verb because
the verb undergoes ATB movement to a position that is even higher than ml. The
conjuncts in such questions are at least the size of a vP because they involve a subject,
an object, and a verb. However, it is also possible to consider the conjuncts to be TPs

or CPs. Possible derivations of the sentence in (86) are given in (88).
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CP
c yedi
|
/\ |
TP C ,'
/\ ml I
|
/
VP T /
/\ -dl /
//
vP vP TTTTT T -
Ali /V\ Ayse V'
VP ye VP
elma ye armut ye
\_~ | \_/

There are several pieces of evidence which suggest that the analysis illustrated in (88)
is the correct analysis for such sentences. However, before discussing them, we first
need to familiarize ourselves with the properties and the distribution of the question

particle ml in Turkish. I will discuss the question particle ml in the next section.
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3.1. Question Particle ml in Turkish

In Turkish, ml is a question particle and a clitic®® which transforms declarative

sentences into polar questions (Kornfilt, 1997) as shown in (89).1¢ 7

89) a. Alielma yedi.
Ali apple eat-PST.
‘Ali ate an apple.’
b. Alielma yedi mi?
Ali apple eat-PST Q
‘Did Ali eat an apple?

Although ml can follow almost any element in YN questions (Goksel & Kerslake
2005: Gracanin-Yuksek & Kirkici, 2016), different placements of ml result in different
semantic interpretations of the question in that the position which it takes decides the
focus of the question. Whether ml has a narrow focus or a wide focus is determined
based on this position in the sentence.

I discuss the possible placements of ml in the following subsections.
3.1.1. Placement of ml

ml displays interesting properties with respect to its placement and interaction with
sentence accent (Kamali, 2011). For example, it is possible for ml to attach to the

predicate of the sentence, as in (90), and in this position, ml has the whole sentence in

ml has been argued in the literature as a clitic (Kornfilt, 1997; Besler, 2000; Goksel & Kerslake: 2005;
Kamali, 2011) based on Uriagereka (1995), who suggests that clitics are morphophonological units and
that they have properties which distinguish them from suffixes. One clear distinction between clitics
and suffixes is that clitics are pretty unselective when it comes to what they can attach to. They can
attach to a DP, a V, or a participle. On the other hand, there are very few suffixes that can attach to both
nouns and verbs. Since ml can attach to various smaller type constituents, | will adopt the view that it
is a clitic.

18T urkish orthography requires ml to be written separately from the word it attaches to, but this is only
a writing convention; ml is in fact not separable from the element preceding it.

7 Turkish also allows the question particle to be used in wh-questions. However, unlike in languages
like Japanese and Korean, in which information-seeking questions can/must contain a question particle
and a wh-phrase simultaneously, in Turkish such questions can only be echo questions (see Besler,
2000; Goksel & Kerslake, 2005 for detailed information). Since only polar questions are the focus of
this thesis, ml in wh-question contexts will not be considered.
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its scope, yielding a wide scope reading of the sentence. Thus, ml seems to occupy the
C position in such sentences.

90) a. Sen din Ali'yi  gordiin mii?
you yesterday Ali-ACC see-PST-AGR Q
‘Did you see Ali yesterday? (Besler, 2000: 7)
b.
CP
TP C
/\ ml
Sen T
VP gordiin
/\ N
diin VP \\
|
|
Aliyi  gor |
\

This derivation is in line with the claim that the functional category C types a sentence
as declarative or interrogative (Cheng, 1991; Chomsky, 1995; as cited in Besler, 2000).

However, Besler (2000) argues that ml is not always generated in C in Turkish. To
illustrate it, she provides examples where the question particle is between a
Tense/Aspect marker and an Agreement marker.

91) a. Sen gidecek misin?
you go-FUT Q-AGR
‘Are you going to go?’ (Besler, 2000: 29)

(91) is clear counter-evidence to the claim that the question particle ml is base-
generated in C. If it were generated in C, (91) would be ungrammatical, and (92) would
be grammatical. This is because if ml were base-generated as the head of CP, it would
be the rightmost element in the sentence as it would c-command both tense and
agreement markers. Since this is not the case, it can be argued that ml does not always

occupy the C position in polar questions.
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92) a. *Sen gideceksin mi?
you go-FUT-AGR Q
Int.: “Will you go?’

Another piece of evidence against ml originating in C position is that it can also attach
to smaller constituents and take only the constituent that it is attached to in its scope
(Kornfilt, 1997). In this way, it may have, e.g., the subject DP or an adverb in its
immediate c-command domain and this yields a narrow scope reading. Examples in
(93) and (94) illustrate.

93) a Senmi din Ali'yi gordiin?
you Q yesterday Ali-ACC see-PST-AGR
‘Was it YOU who saw Ali yesterday?’
b.

TP

/\

FocP

/\/\

Sen gordiin

\
N\
N
N

di N
" /\ \}
Ali’yi I
94) a.Sen din miAl'yi  gordiin?
You yesterday Q Ali-ACC see-PST
‘Was it YESTERDAY that you saw Ali?’ (Besler, 2000: 8)

b. TP

Sen T
VP gordiin
/\ I
\
FocP VP \



Moreover, ml can yield both narrow and wide scope reading when it is positioned in
the immediately pre-verbal position. In this position, it may take the whole sentence
in its scope as in (95) (Kornfilt, 1997) or it may give rise to a narrow scope reading as
in (95).

95) a.Sen din Ali'yi  mi gordiin?
You yesterday Ali-ACC Q see-PST
b. Wide scope reading: ‘Did you see Ali yesterday?
c. Narrow scope reading: ‘Was it ALI that you saw yesterday?
(Besler, 2000: 8)

With this much in mind, let us return to the sentences involving backward gapping that
are the focus of this thesis. Given that ml can surface in various positions in the
sentence, and especially given that the immediately preverbal position may yield the
wide scope reading of the question might make us wonder whether the —ise YN
questions might underlyingly contain two instances of ml, with deletion applying to

one of them. In the next subsection | argue against this possibility.
3.2. Against the Presence of Two Question Particles ml in -ise YN Questions

Recall that the sentences like (86), repeated as (96) here, are reminiscent of RNR and
can be analyzed both as involving gapping, as in (96), or as involving ATB Movement
of the shared verb, as in (96).

96) a. Ali elma Ayse ise armut mu yedi?
Ali apple Ayse as for pear Q eat-PST
‘Did Ali eat apples or Ayse pears?’
b. [[Ali elma s yedi][ Ayse ise armut mu yedi]]?
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PN
AN

Alielma yedi  Ayse ise armut yeeh
I |

If we analyze them as gapping (which is equivalent to the PF Ellipsis analysis of RNR),

they would be derived by simply deleting the first verb. In this thesis, | argue that
questions like the one in (96) are derived instead through ATB Movement of the verb
from both conjuncts, i.e., | argue that these examples involve the ATB movement
analysis of RNR. This analysis is preferred over the PF-Ellipsis analysis of RNR for
the following reasons:

- The PF-Ellipsis analysis of RNR would necessarily require an instance of ml

in both conjuncts,® but it is impossible to strand ml in the first conjunct,

- The presence of two instances of ml in —ise YN questions predicts that such
questions should have the semantic interpretation of two separate questions, which is
not attested: These questions can only be interpreted as asking one question instead of

two.
3.2.1. Itis Impossible to Strand ml in the First Conjunct
On the PF-Ellipsis analysis of RNR, sentence (96) would look like (96):

96) a. Alielma Ayseise armut mu yedi?
Ali apple Ayse as for pear Q eat-PST
‘Did Ali eat apples or Ayse pears?’

18 This is because the first conjunct is not interpreted as a statement, i.e., it is in the scope of the question
particle. Since the question particle does not c-command the first conjunct from its position in the second
conjunct, the presence of the second ml in the first conjunct would be necessary on the PF deletion
analysis.
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b. [[Ali elma m+—yedi] [Ayse ise armut mu yedi?]]
Ali apples Q eat-PST Ayse as for pears Q eat-PST

If this analysis is correct, there must be two mls in the sentence, and the first one is
deleted together with the verb. This, then, should also mean that there is nothing to
block the deletion of only the verb yedi ‘ate’ stranding the question particle ml.
However, when we delete only the verb and strand ml in the first conjunct as in (97),

the sentence is ungrammatical.

97)  *Ali elma m1 Ayse ise armut mu yedi?
Ali apple Q Ayse as for pear Q eat-PST
Int.: ‘Did Ali eat apples and Ayse pears?’

So, one question that this analysis raises is why ml in the first conjunct always has to
be deleted. One possible explanation would be to say that ml is somehow related to
the verbal complex in such a way that the verb cannot be deleted without ml. However,
in Turkish, it is possible to form questions in which the verb is missing, and the

question particle ml is stranded. One such question is given in (98).

98) a Alielma yedi Ayse armut mu?
Ali apple eat-PST Ayse pear Q
‘Did Ali eat an apple and Ayse a pear?’
b. [[Ali elma yedi] [Ayse armut mu yedi]?]

Sentence (98) illustrates that deleting just the verb yedi ‘eat’ in the second conjunct
without deleting ml does not cause ungrammaticality. In other words, ml can be
stranded by ellipsis in interrogative sentences. Therefore, the fact that we cannot do it
in the examples that |1 am interested in points to the conclusion that there is no ml in

the first conjunct.
3.2.2. One Question Interpretation against Two Questions Interpretation

The second argument against the presence of two mls in -ise YN questions is that ml
in these sentences takes wide scope. That is, ml scopes over both conjuncts. This

indicates that sentence (99) contains only one question about two events as
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schematized in (100) rather than two separate questions about a single event each as
in (100).

99)  Alielma, Ayse ise armut mu yedi?
‘Did Ali eat apples and Ayse pears?’

100) a.[p&q]+ml
b.#[p+ml]&[qg+ml]

The interpretation of (99), then, is the one given in (101), not the one in (101).

101) a. ‘Is it the case that Ali ate apples and Ayse ate pears?’
b. #‘Is it the case that Ali ate apples and is it the case that Ayse ate pears?’

As the presence of two mls predicts the reading where these constructions are two
conjoined questions rather than one question with two conjoined clauses, | conclude

that the analysis in which there are two mls is incorrect.
These arguments show us two things about —ise YN questions:

I It is incorrect to say that the verb is simply deleted. If it were, we could
have stranded ml in the first conjunct after the deletion of the verb.

ii. Given the meaning of the sentence, ml does not originate inside the first
conjunct. Actually, I argue, that it does not originate in either conjunct
in such sentences, but in a position higher than the coordination phrase.

For all of these reasons, | believe that the PF-Ellipsis analysis of these questions, which
I believe to be instances of RNR, is incorrect. Instead, | propose that underlyingly, ml
Is base-generated higher than the conjunction and the final word order is achieved by

the verb movement to a position that is higher than ml.

At this point, the question may arise as to why we are considering only the ATB
Movement analysis of RNR but not the Multiple Dominance analysis of RNR to derive

—ise YN questions.

To answer this question, let’s first take a look at an example from English with the
analysis of RNR that involves ATB Movement of the object DP, which is not multiply

dominated, as in (102), the analysis of RNR that involves Multiple Dominance, where
47



the DP stays in-situ, as in (102), and the analysis of RNR that combines the Multiple
Dominance and Across-the-Board Movement where the DP is multiply dominated
and moved outside of both conjuncts, as in (102).

102) a. John likes and Mary hates apples.
b.

TP

TP apples
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TP
/\
TP apples
TP and TP
/\ /\
John T Mary T
T T
likes VP hates VP
\ |
‘o like '\ _ hate_—dpples
\\_’I —=

Applied to the cases that we are interested in, these three analyses look like the

following:

103) a. Merve matematik Elif ise  fizik mi c¢alist1?
Merve math Elif as-for physicsQ  study-PST
‘Did Merve study math and Elif physics?’

calisti

/\m'

Merve matematik eahstt  Elif ise fizik eahtsti
| |
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TP

matematik calist1
d.
TP
TP calist1
|
/\ |
TP ml |
|
|
TP |
TP /\ |
/\ Elif VP /
/
Merve VP o !
fizik ﬁa;l-t$ ) )
matematik

The word order and the fact that ml takes scope over both conjunct in Turkish suggests
that the shared verb cannot simply be multiply dominated in situ, as in (103)- if it
were, there would be a coordination of a statement (1% conjunct) and a question (2"

conjunct). Thus, the interpretation would be as in (104), but this is not the

interpretation that we get.
104) #Ali ate apples and/but is it the case that Ayse ate pears?

The fact that we do not find this interpretation argues against the MD in-situ analysis

in (103). Thus, MD analysis does not seem to be correct for such sentences. At best,
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MD may be involved to the extent that the verb that moves to a position outside of the
coordination phrase is multiply dominated in its base position, as in (103). However,
since (103) and (103) make the same predictions about the movement of the verb to a
higher position than ml, I will not explore whether the verb is or is not multiply
dominated before the ATB Movement. Yet, it should be noted that Multiple
Dominance of the verb in the base position, as in (103), is also an option.

For concreteness, | propose that the analysis of these sentences are as follows.

105)

/\ calist

/\ml

Merve matematik eakstt Elif ise fizik eahistt
| |

This analysis derives all the properties of the construction that we see. The first thing
that it does is it derives the high scope of ml because it c-commands both conjuncts.
Additionally, it derives the correct word order by locating the verb in the sentence-

final position as it moves across ml.

The following details of the analysis, however, still need to be worked out. First, what
position ml occupies in these sentences is still not identified. In order to determine

where the question particle ml might be, we need to determine the size of the conjuncts.
In the next section, I discuss the size of the conjuncts in —ise YN questions.
3.3. The Size of the Conjuncts

Given that there are not two mls in the conjuncts, and we have seen arguments against
that in the previous section, my proposal for the derivation of the sentences that | am

interested is schematically shown in (106):
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106) a.

/\

/\ml

SUBJOBJ VERB SUBJOBJ VERB

/\

/\ml

SUBJOBJVERB  SUBJOBJVERB
| |

(106) shows that ml is already higher than the conjuncts in the base-generated position.
(106), on the other hand, shows the derived representation, where the verb has
undergone movement. | next turn to the question of what labels should be inserted in
the schematic diagrams above; this depends on what the syntactic make up of the
conjuncts is, and relatedly, what position ml occupies. In the following subsections,

we will see that the conjuncts are CPs and ml occupies a position of a focus head.
3.3.1. Can the Conjuncts be CPs?

In order to test the size of the conjuncts in the —ise questions with a missing verb, we
should look at examples where the position of ml can be determined with more
confidence than in examples that we have been discussing so far. One possibility is to
look at examples where the only thing following ml is not only the matrix verb.

Embedded questions as in (107) are one such configuration.
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107) Ayse [[Ali’nin okula gittigint|[Mehmet’in ~ ise  eve mi
Ayse Ali-GEN school-DAT go Mehmet-GEN as for home-DAT Q
gittigini] gittigini] sordu? /.
go go ask-PST
‘Did Ayse ask whether Ali go to school and Mehmet to home? *° or

‘Ayse asked whether Ali go to school and Mehmet to home.’

Here, the first part of the embedded clause is the subject 4/ 'nin ‘Ali’s’, and the last
part of it is gittigini ‘goes/went’, and on my analysis, underlyingly, there is another
gittigini in both conjuncts of the embedded clause. So, the representation has a
conjunction of two clausal conjuncts, which means that it has all the syntactic
properties that we are interested in. The question we are asking now is how the

sentence is interpreted.

Note that (107) has two readings, one being a question reading and the other being a
statement reading. Based on this, we can conclude that ml belongs either to the
embedded clause, in which case the sentence is a statement (with an embedded
question), or to the matrix clause, in which case the sentence is a question (with an

embedded statement).

If the sentence is a question, the question particle ml must be related to the matrix C,
with the interrogative force. However, we do not observe ml in this position because

if we did, the sentence would be as in (108).

108) Ayse [[Ali’nin okula gittigini] [Mehmet’in ~ ise eve  gittigini]
Ayse Ali-GEN school-DAT go Mehmet-GEN as for home-DAT go
gittigini] sordu  mu?
go ask-PST Q
‘Did Ayse ask whether Ali go to school and Mehmet home?’

This is not the word order that we observe in (107), so ml does not occupy the C
position, but it does not necessarily mean that it is not associated with the matrix C.

19 Not all native speakers can interpret this as a question. However, the analysis | propose goes through
even if this reading is indeed absent.
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Recall from Section 3.1.1. that ml can have the interrogative force in different

positions.

Simple sentences in which ml is positioned in different places should be examined to
see if ml is necessarily base-generated in the matrix C. Given the focus of this thesis,

we need to look at questions where ml has the wide scope reading.

Sentences in (109) and (110), without coordination, show a pattern very similar to that
of (107) and (108) in that ml has interrogative force regardless of its position. In (109),
the question particle ml is in C position, where it has interrogative force like it does in
(108).

109) a. Ayse eve gitti mi?
Ayse home-DAT ¢go-PST Q
‘Did Ayse go home?’

CP

eve gt 7
\ _—

—_

In (110), the question particle is on the object of the sentence. It is not in C position,

but it is still associated with C, and the utterance still has the interrogative reading.?°

110) a. Ayse eve mi gitti?
Ayse home-DAT Q go-PST
‘Did Ayse go home?’

201 assume, following Gracanin-Yuksek and Kirkici (2016) that in such questions ml originates in a low
position and covertly moves to C at LF. In the diagrams, this is indicated with fine-dotted lines.
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CP
TP C
Ayse T

VP gitti

/\ ;

FocP git )

/\ b
eve mil

Similarly, there are examples where ml is placed after various constituents in the

question, as in (111)-(113), and in all such examples, the question particle ml is

somehow related to C, and gives the sentences a question reading.

111) a. Ayse mi eve gitti?
Ayse Q home-DAT go-PST
‘Did Ayse go home?’
b.
CP
TP C
FocP T
A ml /\ .
yse : VP gitti
[
/\ /
eve it //
“___~
112) a. Ayse’nin  mi liseden  en iyi arkadasi

geldi?

Ayse-GEN Q high school-ABL best friend-ACC come-PST
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CP
TP/\
P/\ o

Vv
/\ geldi
DP h

get )/
DP ‘-
/\DP
liseden /\
K en AdjP
Ayse’nin - ml lyi  arkadasi
113) a. Ayse’nin liseden mi eniyi arkadas1i  geldi?
Ayse-GEN high school-ABL Q best friend-ACC come-PST
b.
CP
TP
VP
DP C
geldi :
[
DP gel )
\__~
DP
Ayse’nin FocP /\ _
€

AdjP
N
liseden rr_ﬂ /\
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At this point, one might argue that [ppAyse nin liseden en iyi arkadasi] is one
constituent, and breaking this constituency by inserting the question particle ml should
cause ungrammaticality. However, it has been argued that the question particle ml and
its hosts do not form a constituent, and the constituency tests are not applicable for
such structures (Kahnemuyipour & Kornfilt, 2011; Kamali, 2011; Ozyildiz, 2015).
Thus, given the data in (110), we are not surprised by the matrix question reading in
(107), repeated here as (114). This is because ml in this sentence behaves just like it
does in sentences (110), namely, it is associated with the matrix C, but it is placed

inside a constituent embedded deeper inside the structure.?!

114) a. Ayse [[Ali’nin okula gittigint] [Mehmet’in  ise  eve
Ayse Ali-GEN school-DAT go Mehmet-GEN as for home-DAT
gittigint] mi gittigini] sordu?/.
go Q go ask-PST
b.

CP

ittigini

TP

/\ RO :

ml
TP TP
Ali’nin ™ Mehmet’in ™
VP eithsin VP eittisin

|

N N

okula git ! eve git |

Iy // \_/

21 In the diagram in (114), the conjuncts are labeled as TPs, but this is done just for convenience. In fact,
we are still debating the size of the conjuncts.
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These data then indicate that ml does not necessarily have to occupy C position in
adversative questions to be associated with the C. Instead, the question particle ml that
is associated with the matrix interrogative C may find itself on various elements (like

in the sentences (112) and (113)), and it can still give us the matrix question reading.

What is interesting for the purpose of this thesis is the situation in (107) when the
matrix clause is declarative and the question particle originates within the embedded
clause. In that case the embedded clause has the analysis that | propose for —ise YN
questions (ml base-generated above the coordination with ATB movement of the verb

across it).

We are now in the position to start discussing the size of the conjuncts in the embedded
clause. Kural (1993) and Aygen-Tosun (1998) suggest that there is an overt V to C
movement in Turkish, even in declarative clauses, as illustrated in (115) (see Ince
(2006) for detailed information).

115) a. Asli  eve geldi.
Asli home-DAT come-PST

‘Asli came home.’

b.
CP
TP C
/\ geldi
Aslhi T ,'
|
| /\ ',
| VP T )
| geldi
! /\ I\ /
{___A.Sh v 1 -
/\ |
|
VP !
|| //
/\ I~
eve |
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In addition, Kural (1993) proposes that in embedded clauses, C is occupied by -k %,
I.e., that the nominalizing suffix —DIK, used for subordination, is composed of the

tense marker —DI, and the complementizer —K, as illustrated in (116).

116) a. Ali Mehmet’in  okula gittigini mi sordu?
Ali Mehmet-GEN school-DAT go-k  Q ask-PST
‘Did Ali ask whether Mehmet went to school?’

b.
CP
/\
sordu
/\
CP mi
/\
Ali C
TP -k
N gittigini
Mehmet’in T
T
vP gttt
/\
Mehmetiin V'
/\
VP git
okula git

Therefore, in (116) the verb gittigini occupies the C position. Following the same
reasoning for (107), we conclude that the verb in each conjunct occupies the C position

prior to ATB Movement. This means that the conjuncts are the size of CPs.

The second piece of evidence indicating that the conjuncts in (107) are CPs and that
ml is somewhere other (higher) than the embedded C position is Negative Polarity

Items (NPIs), which I discuss in the next section.

22 The rule “softening of consonants” requires gitti-k-ini to become gitti-g-ini. That is why we do not
observe -k in the verb.
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3.3.1.1. Licensing Negative Polarity Items (NPIs)

While some lexical items are not dependent on the presence of another element, words
such as anything, anybody, etc., have a strict distribution and can be present with only
certain elements (Uribe-Etxebarria, 1994), such as negation. This is shown in (117)
and (118).

117) *John saw anybody.
118) John did not see anybody. (Zeijlstra, 2007: 509)

Sentence (117) shows that anybody cannot occur in the sentence unless certain
conditions are met. In order for anybody to be present in the sentence grammatically,
it should be licensed by a licenser overtly. In English, this is done by negation, as in

(118), which is why elements like anybody are called Negative Polarity Items (NPIs).

However, there are also cases where NPIs are licensed even though there is no overt

negative marker (Giannakidou, 2002). NPIs can also be licensed by YN questions.

119) Do you expect anything from your life?

120) Have you ever been abroad?

English is not the only language that has NPIs. NPIs are typologically very common
and exist in virtually every language (Giannakidou, 2008). Turkish, like English, has
NPIs and very similar licensing rules apply for Turkish, too. That is, Turkish NPIs also
need a licensor in the sentence and cannot be expressed in declarative sentences
without negation as illustrated in (121) and (122).

121) John (hi¢)kimse-yi gor-me-di.
John anybody-ACC see-NEG-PST
‘John didn’t see anybody.’
122) *John (hi¢)kimse-yi gor-dii.
John anybody-ACC see-PST (Kelepir, 2001: 121)

However, there are also a few NPIs that are licensed in polar questions such as hi¢
‘ever, at all” (Kelepir, 2001), but only when ml occupies the sentence-final, C position
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(Besler, 2000), as in (124). A different position of ml does not license NPIs, as (125)
shows.

123) *Hasan hi¢ Amerika’ya  gel-di.
Hasan ever America-DAT come-PST
124) a.Hasan hi¢ Amerika’ya  gel-di mi?
Hasan ever America-DAT come-PST Q

'Has Hasan ever come to America?"

b.
CP
TP C
DP T geldi+ ml
Hasan - )
: vP T //
: /\ /\ //
I PP v’ geldi+ mi ,/
' Hasan N /
\ I /\ || AN -7
\ -
== VP v :
/\ /\ |
AdvP VP gel+ i |

. ~ /
hlg /\ N ~N o

|
|
Amerika’ya \ |
I

125) *Hasan hic Amerika-ya mi gel-di??

Hasan ever America-DAT Q come-PST

23 (125) can be a grammatical sentence with an appropriate context, as in (i) below.

(i) Context: The person who asks the question is completely sure that Hasan has never gone
to America in his life. Thus, to emphasize this, he says:
Hasan hi¢ Amerika-ya  mi gel-di?
Int.: ‘C’mon, I doubt that Hasan has gone to America.’

In such a sentence, ml seems to scope over the entire conjunct and takes wide scope even if it is not in
C position. This issue remains unresolved in this thesis, and requires further research. Note that sentence
(125) is marked as ungrammatical in neutral contexts.
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Sentences (123), (124) and (125) suggest that only when the question particle ml is at
the end of a sentence, and occupies the C position, is it a licenser and can license NPIs.

This piece of information comes in handy to test the position of ml in adversative
questions in Turkish. Sentence (126) shows that an adversative question with an
addition of an NPI becomes ungrammatical, suggesting that ml does not occupy the C
position in the sentence.

126) *Ali hi¢ elma Ayse ise hi¢ armut mu yedi?
Ali ever apple Ayse as for ever pear Q eat-PST

Int.: “Has Ali ever eaten an apple and Ayse a pear?’

This is in accordance with the conclusion from the preceding section, where we saw
that gittigini occupies the embedded C position, so this position cannot be occupied by
ml. The discussion in this section led to the conclusion that in —ise YN questions, the
conjuncts are CPs, rather than e.g., TPs or vPs. This, in turn, led to the conclusion that
ml does not occupy C, but rather a position higher than that. We next discuss the

question of where ml is base-generated.
3.4. Where is ml Base-generated?

In Sections 3.3.1. and 3.3.1.1., we saw that ml is not base-generated in embedded C,
but rather in some position higher than that. Thus, the observations we have so far are

listed below:

. Section 3.3.1 shows that, because there is VV to C movement in Turkish, ml
in adversative questions cannot occupy C as C is already occupied by the
complementizer -k.

ii. Recall from Section 3.3.1.1. that ml does not license Negative Polarity
Items unless it is in a sentence-final position where it scopes over the whole
clause. This suggests that ml that occurs in a position other than the

sentence-final position does not occupy C.

To establish an analysis which can explain all these considerations economically, there
should be a head position where ml is base-generated (from which it can licitly move

when necessary) and this position should c-command the CP (since we saw that prior
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to the ATB movement, the two verbs occupy the C position in the individual
conjuncts). In order to satisfy these considerations, we follow Rizzi (1997) and assume
that the left periphery of the clause is elaborate and hosts more than one syntactic head.
Rizzi argues that there is a number of functional heads that dominate the TP in a clause;

in particular, he proposes the following hierarchy.
127) Force > Top* > Foc > Top* > Fin > TP (Rizzi 1997: 298)

If we assume, together with e.g., Hiraiwa and Ishihara (2002), that the position
occupied by the verb in both conjuncts is not Force®, but Fin®, this allows us to propose
that ml is base-generated as the focus head (Kesici, 2019). Thus, the verb, which
occupies Fin® in both conjuncts, ATB-moves across ml, which occupies Foc?, to a
position higher than that. This analysis is consistent with the word order and also the

meaning of ml as a focus question particle.

At this point, the final position of the verb is problematic because it is a head and
presumably moves as a head. Therefore, it should obey the Head Movement Constraint
(Travis, 1984), i.e., it should move through every head position on the way from its
original position to its final landing site. This means that all the heads on the way
should be available to move into (i.e., should not contain overt material), or the verb
should stop off in every head position on the way to its final position, picking up
material on the way, assuming that such material is affixal in nature. Since ml is a
clitic, it is conceivable that it will allow the verb to land in Foc®, assuming that ml then
attaches to the verb and is raised up together with it.2* However, this would give us the

following word order.

128) Emresiir  Mine dergi okudu  mu?
Emre poem Mine magazine read-PST Q

‘Is it the case that Emre read poems and Mine magazines?’

Since this is not the word order we get, there remain two possible solutions:

24 See Kesici’s (2019) analysis for furher information about his proposal in which ml is base-generated
and moved in this manner.
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I. Either the verb exceptionally skips a head on the way up, perhaps because
it is moving in the ATB manner, or

ii. the position to which the ATB-moved verb is not a head position, but some
position that is not on the spine of the tree, therefore the movement of the

verb is actually scrambling to some position that is adjoined to the FocP.

Since Head Movement Constraint applies to ATB Movement as well as regular head
movement (Agbayani & Zoerner, 2004) scrambling of the verb is the only solution to

explain this derivation.

When we combine all of this evidence, we can suggest that the verb that is shared in
each conjunct ATB-moves across the question particle ml to a position that is adjoined
to FocP. This gives us the complete analysis of the elliptical yes-no (YN) questions

that contain the adversative conjunction as illustrated in (129).

129) a. Emre siir Mine dergi mi okudu?

b.
FocP
FocP okudu
TP Foc
/\ ml
TP TP
/\ /\
Emre T Mine T
I I
| /\ | /\
I Y, I v
{ T~ okuduy | T~ okudy
I Emre v | U Mine % !
\\__/I /\ /I \\__/I /\ /I
VP oeka 7 VP oka 7
\_~ N_~
/\ /' /\ /I
siir oky  / dergi oky  /
\_ - _ .
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3.5. Conclusion

We started this chapter with the question of how and why ATB movement analysis of
RNR is correct for our target structures. Following that, we looked at the question
particle ml in Turkish. We have seen its placement and the interpretation it gives to
the questions, and we have established that it is not surprising that the adversative YN
questions have a wide scope reading even though ml is followed by a verb. We have
also discussed whether there can be two separate mls in such YN questions and argued
against this possibility. Lastly, the size of the conjuncts was discussed and it was
shown that they are CPs (FinPs), and that the question particle ml originates as the
head of the Focus Phrase. This, in turn, suggests that the ATB-movement that the verb
undergoes is not head movement proper, but some version of scrambling that adjoins
the verb to FocP.

With all this information, we have derived the correct word order with two conjuncts
sharing a verb following the question particle ml. This structure also allows ml to scope

over each conjunct and enables the sentence to have one question reading.

In what follows, | turn to how properties of the adversative YN questions in Turkish
may be recast in second language (L2) English. In the next chapter, I will explore the
possible effects of the superficial similarities of the target structures in Turkish and
English on the L2 interpretation of comparable questions in English. We are going to
see whether L2 learners of English, with native Turkish can assign YN and ALT
interpretations to the questions in the target language even if the parallel structure in
their native language (the adversative YN questions that we have discussed so far)
lacks the ALT reading.
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CHAPTER 4

THE EXPERIMENT

The aim of this chapter is to investigate elliptical Yes-No questions that contain the
adversative conjunction —(y)sA/—ise in Turkish, and to see whether comparable
sentences in English, which are superficially very similar to their Turkish counterparts,

are acquired correctly by Turkish speakers.

In Chapter 3, | showed that Turkish questions involving an adversative conjunction —
ise, but missing the verb in the first conjunct receive only a yes/no interpretation and
lack an alternative interpretation because of their syntactic make-up. Therefore, such
sentences in Turkish do not involve ambiguity in the interpretation, as shown by the

absence of the alternative reading in (130).

130) a. Frank hikaye Jessica ise siir mi yazdi?
Frank story Jessica as for poem Q write-PST
b. Is it the case that Frank wrote a story and Jessica a poem?
c. #ls it the case that Frank wrote a story or is it the case that Jessica wrote a

poem?

Sentence (130) can have the Yes-No question interpretation as in (130), but it is

impossible to have the alternative reading as in (130) in Turkish.

Comparable sentences in English, however, are different from their Turkish

counterparts.

131) a. Did Frank write a story or Jessica a poem?
b. Is it the case that Frank wrote a story and Jessica a poem?
c. Is it the case that Frank wrote a story or is it the case that Jessica wrote a

poem?
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Sentence (131) can have both the Yes-No question interpretation in (131), and the
alternative reading interpretation in (131) in English. Therefore, there is an ambiguity

between these two readings.

Here, | will be investigating the acquisition of disjunctive questions as in (131) to see
whether Turkish speakers can get both of the interpretations (YN and ALT) even
though they do not have such an ambiguity in their native language. Thus, to be able
to acquire and use these constructions in English correctly, Turkish speakers need to
have the knowledge of more than one language module and they should integrate the

knowledge of syntax and semantics.

Before moving on to the experiment, | will discuss the interfaces of these modules in

the following section.
4.1. Interfaces

The term interfaces are used in both linguistic theory and acquisition theory, and it is
used in different ways. In linguistic theory, interfaces were first discussed by Chomsky
(1995) in two forms: Logical Form (LF), being the interface with Conceptual Intention
system (CI) and Phonetic Form (PF), being the interface with Articulatory-Perceptual
system (AP). The function of these interfaces is to interpret the meaning and sound of
an utterance (Eren-Gezen, 2015).

After its introduction to the field by Chomsky, interfaces were also adopted by
acquisition theories. The most common definition of interfaces in L2 research is the
interaction or mapping between different linguistic components (White, 2011).
Language consists of different components of grammar such as phonology, lexicon,
morphology, semantics, syntax, pragmatics, and these components affect and interact
with each other. It is also possible for L2 learners to have various levels of proficiency
in these components. While they may perform well in syntax, they may be less
successful in phonology or pragmatics (VanPatten, 2007; as cited in Eren-Gezen,
2015), but the problems in domains that do not require interfaces with other domains
are solved more quickly, and acquisition takes place faster (Sorace, 2005). White

(2011) also states that there is an emphasis in recent language acquisition research
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suggesting that properties which are related to pure domains such as narrow syntax are
easier to learn than interface properties.

The mapping of the syntax of a sentence to its semantics (syntax/semantics interface)
or the mapping of the syntax of a sentence to phonology (syntax/phonology interface)
may be more problematic for learners. The interaction between these modules often
poses a problem for especially adult L2 learner and it may be difficult for them to
acquire target structures. Sorace (2006) gives the following example from Italian to
underline that even advanced learners of Italian whose L1 is English can experience

residual optionality by being affected from their native language unsystematically.

132) a. Perche Maria e andata via?
Why Maria is gone away?
b. (perche) lei ha trovato un altro lavoro
(because) she has found another job.
c. (perche) __ hatrovato un altro lavoro.
(because) _ has found another job. (Sorace, 2006: 112- 113)

For a question (132), (132), in which the subject is not overtly realized by a pronoun,
would be a natural answer from a native Italian. However, Sorace (2006) argues that
(132), where the subject is indicated by an overt usage of the pronoun lei ‘she’, would
be a typical answer of a speaker whose native language is English even though they
are advanced learners. Such learners prefer realizing the subject overtly while they can

use a null pronoun even at near-native levels.

Sorace and Filiaci (2006) call generalizations like this the Interface Hypothesis (IH).
The IH originally proposes that when a structure involves an interface between syntax
and another domain (e.g., syntax-semantics, syntax-pragmatics, etc.), it is less likely
to be acquired compared to a structure in which no interface is involved (Sorace, 2005;
2011).

However, Rothman (2009) suggests that interface properties can ultimately be
acquired even though they pose problems for L2 learners. White (2011) also shares

this opinion, but proposes that not all of the interfaces cause difficulties to the same
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extent. She suggests an improved version of Interface Hypothesis by dividing it into
two categories: External Interfaces and Internal Interfaces.

External interfaces involve the interface of syntax with external domains such as
pragmatics, and they are reported to be more problematic in terms of acquisition even
for advanced learners. When there are such interfaces for learners, the acquisition is
subject to difficulties, delays and mapping problems, which results in residual
optionality (Iverson and Rothman, 2008). Rankin (2009) defines residual optionality
as both non-mastery of the interfaces and continued influence of L1. Influence of L1
occurs especially when it has more economical syntactic features compared to the
structures of L2.

Internal interfaces, such as syntax-semantics, morphology-semantics, on the other
hand, are easier to acquire completely (Tsimpli & Sorace, 2006; Antanova-Unlii,
2015). Tsimpli and Sorace (2006) state that syntax-semantics interference is relatively
unproblematic and their results show that this interface appears to be target-like even

for participants who experience relatively less exposure and interaction.

To test whether this is the case for Turkish speakers who learn English as a foreign
language, and to see whether they can assign correct readings (YN or ALT) to the
disjunctive questions which require integration of syntax and semantics, an experiment

was designed. In the next section, | will look at this study, its results and implications.
4.2. The Study

This section involves the overall description of the experiment conducted as part of
the thesis. It contains information about the research question, the participants on
which the experiment was conducted, the instrument which was used to collect the
data, the procedures which were followed during the data collection process, the data

analysis, and the results.
4.2.1. Research Questions and Hypothesis

Research Question 1: Turkish and English both have adversative questions with two
conjuncts and the verb missing in one (which | have been exploring in this thesis).

However, in the two languages, these questions while superficially similar, give rise
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to different semantic interpretations: in Turkish, only a YN interpretation is possible,
while in English, both the YN and the alternative interpretation are possible. In this
study, | investigated whether my participants, who were L2 learners of English with
Turkish as their L1, can access to the same extent ALT and YN readings of English

adversative questions with a missing verb?

Hq: Participants will prefer the YN reading of the target questions and this will be
manifested through their giving higher scores to such questions when they appear with
contexts that require a YN interpretation of the question. On the other hand,
participants will have difficulties accessing the ALT reading, and this will be obvious
through their giving low scores to such questions when they follow contexts that favor

ALT interpretation of the question.

There will be a statistical difference between the mean scores of ALT and YN reading
since the participants’ native language has only YN interpretation. Syntactic transfer
Is expected to be observed.

4.2.2. Participants

The participants of the study were selected through purposeful sampling method.
There were two experimental groups consisting of 51 individuals 23 males & 28
females). All the participants were native speakers of Turkish who learned English as
a second language. At the time of the experiment, they were 1% grade students at an
English Language Teaching Department of a state university in one of the most
populous cities in Turkey. Although all the participants have similar education
backgrounds in terms of language education from their high schools, it was reported
by their professors that their proficiency levels of English may vary to some extent.
Therefore, the Oxford Placement Test (OPT) was administered to determine their
proficiency levels. Those participants who received a score of 39 or lower out of 60
were considered intermediate level learners and excluded from the study. The
participants who scored between 40 and 47 were considered upper-intermediate, and
those who scored 48 and higher were considered advanced learners. Based on these
results, the upper-intermediate group contained 22 participants and advanced group

contained 29 participants.
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4.2.3. Instrument

The aim of the study was to find out whether L2 learners of English whose native
language is Turkish can understand the syntax and semantics of disjunctive questions
with missing verbs in English, in which, unlike in their native Turkish, both ALT and
YN question readings are available. Recall from Section 4.1. that the mapping of
syntax and semantics does not involve an interface of syntax with language-external

domains.

To see if there is a transfer of knowledge from the syntax or semantics of the
participants’ native language to their second language, a Semantic Appropriateness
Task (SAT) with a 5-point likert-scale was developed and administered to the
participants in two lists. Each list contained 8 experimental items and 16 filler items.
All the items consisted of a context and a question following it. In the experimental
items, the questions involved instances of RNR where a verb is shared by two clauses.
Participants’ job was to rate, on the scale 1-5 how appropriate the question is given the

context it follows.

The eight experimental items in each list consisted of 4 contexts favoring the ALT
reading of the question and 4 contexts favoring the YN reading of the question. These
items were distributed to the lists in a way that the same question was shown in both
lists with the exact same format, but one had an ALT reading as in (133), and one had
a YN reading as in (134).

133) 1 2 3 45

Last weekend, William and Lily wanted to do some sports.
William wanted to play soccer and Lily wanted to play
volleyball. However, their two-year-old daughter got sick, so
only one of them could go and do sports. To find out which
one, | ask their friend:

Did William play soccer or Lily volleyball?

71



In this item, the context favors the ALT reading and this reading is one of the possible
readings of the question. Thus, the question is appropriate and advanced speakers are
expected to give it a high score. However, recall from Chapter 1 that ALT reading is
not present in Turkish, so this might create difficulties for Turkish speakers to access

this reading.

In the following item, the context favors the YN interpretation of the same question.
Since this interpretation is also available for the following question, advanced learners

are, again, expected to give it a high score.

134) 1 2 3 45

Last weekend, William and Lily wanted to do some sports.
William wanted to play soccer and Lily wanted to play
volleyball. However, over the weekend they both had to go
to work, so | am not sure whether they managed to do any

sports. | therefore ask their friend:

Did William play soccer or Lily volleyball?

For filler items, there are two groups of questions: WH and YN questions. Since all
the experimental contexts and questions require a high score in terms of semantic
appropriateness, 8 of the filler contexts and questions were created so that the question
following the context did not semantically fit it. This was done in order not to cause a
bias for the high scores in the likert-scale. However, the formats of these questions
were still the same as the experimental ones. The items that were created so that the
following question fits the provided context are illustrated in in (135) and (136). These

items, like all the experimental items, required high scores.
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135) 1 23 45

Yesterday, Derek and Jane went to a café near their house.
Derek wanted to have cheesecake and Jane wanted to have
coffee. However, once they sat down to order, they realized
they were too expensive, so they had to change their choices. |
wonder what they decided to order, so | ask:

What did Derek eat and Jane drink?

136) 1 2 3 45

John and Mary worked really hard this year, and they finally
decided to go for a vacation. To find a place of destination,
either John was going to call agencies or Mary was going to
look online, but I don’t know which one happened in the end.

So, | asked:

Did John call agencies or Mary look online?

On the other hand, it is not the case in (137) and (138). In these examples, the questions

do not fit the preceding contexts. These items, therefore, require low scores.

137) 1 2 3 45

Kevin and Peter wanted to create a personalized present for
their mother’s birthday. Kevin was going to paint a picture
and Peter was going to write a song. However, as they were
really short on time, | was not sure whether they were able to

finish them on time or not. To find out, | asked their sister:

For whom did Kevin paint a picture and Peter write a

song?
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138) 1 2 3 45

Wilson and Jones are farmers in a small village. They grow
fruit trees to make a living. However, last year the trees did
not yield much fruit because of the drought, so they found
new jobs. Wilson herded animals and Jones did gardening in
other villages. However, | am not sure if they were able to

earn enough money. To find out, | asked their neighbor:

Did Wilson like herding animals or Jones get used to do

gardening?

None of the filler items involved RNR structures as they did not have a shared verb in
two clauses. All 16 fillers were used in both lists, and the instrument was constructed
with pseudo-randomizing. The items were pseudo-randomized so that there is no more

than two experimental items involving contexts with the same bias in a row.
4.2.4. Procedure

All the tests were administered in classroom environment with pencil and paper. In the
middle of the semester, the students were given the OPT to determine their proficiency
level. After that, they were asked to participate in the experimental part at the end of

the semester on a voluntary basis.

Every participant took part in only one list, and the administration of the questionnaire
for both lists took place in the same room at the same time, and lasted around 15
minutes. All the participants signed a consent form before the experiment.

4.2.5. Data Analysis

After the data collection period, the two lists were merged into one list and the data
was entered to the Statistical Package for the Social Sciences (SPSS) for analysis. The
mean scores of all the ALT reading items (4 items in List 1, 4 items in List 2) and the
mean scores of all the YN reading items (4 items in List 1, 4 items in List 2) were

calculated to see if there was a statistical difference between these scores. For
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comparison, paired samples t-test was used. After the comparison of the mean scores
of ALT reading and YN reading items for all the participants, another paired-samples
t-test was also used within different groups, to see if there is a difference relative to

the language proficiency level of the participants.

For filler items, the scores for the items that require low scores were reversed and the
mean scores of the filler items were calculated together. Those who scored 3.5 and

lower out of 5 (lower than 70%) were excluded.

Taking all these into consideration, some of the participants were not included to the
study. Two participants from each group were excluded because they did not complete
the experiment. Additionally, three participants from the advanced group and five
participants from the upper-intermediate group were excluded because they scored 3.5
or lower in the filler items. In total, 39 participants’ (24 advanced, 15 upper-

intermediate) scores were used.

The results were analyzed statistically through Statistical Package for the Social
Sciences (SPSS). Alpha level was set .05 for every test run. To test whether the data
is normality distributed, Kolmogorov-Smirnov test was conducted and it was found
that the data were normally distributed and the variances were found to be equal (p >
.05).

4.2.6. Results

Table 1 shows the descriptive statistics for ALT reading and YN reading questions’

mean scores of all the participants collectively.

Table 1: Descriptive Statistics for Question Types (n=39 for both

groups, max. score: 5, min. score: 1)

ALT Reading YN Reading
Mean 3.89 3.34
SD 73 .76
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A paired samples t-test was conducted to compare the mean scores of ALT and YN
reading questions. The results showed that there was a significant difference in the
mean scores for ALT reading (M = 3.89, SD =.73) and YN reading (M = 3.34, SD =
.76); t1(38) = 3.19, p = .003). These results suggest that native speakers of Turkish who
learn English as a foreign language tend to assign ALT reading interpretation to

disjunctive questions.

Then, another paired-samples t-test was conducted within each group to see whether

the result is different when each language proficiency level is considered separately.

Table 2: Descriptive Statistics for Question Types by Proficiency
Level

(n =24 for advanced group, n = 15 for upper-intermediate group)

Proficiency Level  Question Type M SD
Advanced ALT 4.08 71

YN 3.29 .79

Upper- ALT 3.58 .68

Intermediate

YN 3.42 74

The results showed that an the advanced group, there was again a significant difference
in the mean scores for ALT reading (M =4.08, SD =.71) and YN reading (M = 3.29,
SD =.79); t(23) = 4.11, p = .0).

For the upper-intermediate group, on the other hand, there was no significant
difference in the mean scores for ALT reading (M = 3.58, SD = .68) and YN reading
(M =3.42, SD =.794); t(14) = .54, p = .60).
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4.2.7. Discussion

The aim of this study was to establish what semantic interpretation L2 learners of
English assign to sentences containing clausal disjunction and whether this
interpretation might be influenced by the interpretation of comparable structures in
their native Turkish. The experiment was conducted to see if the participants can assign
to the same extent ALT and YN reading to disjunctive questions with a missing verb.
Ideally, learners who are proficient in English were expected to have high scores for
both ALT and YN reading questions. Since the interface tested in this experiment is
internal, and requires syntax-semantics mapping, the mapping of two language
modules may be considered relatively less problematic for learners. Yet still, | was
expecting that learners would have difficulty in assigning ALT and YN readings to the

questions depending on the contexts.

The first reason why | had such an expectation is that the question has a structural
ambiguity in it, and this ambiguity causes the questions to be confusing for learners.
For that reason, | believe the target structure, disjunctive questions, can be difficult

sentences to process for learners regardless of their native language.

The second reason why | thought that L1 Turkish speakers would have trouble in
assigning correct readings to the questions is that a comparable structure in their native
language involves YN reading only. Recall from Chapter 3 Section 3.3. that the size
of the conjuncts in disjunctive questions in Turkish are CPs, and the question particle
ml originates higher than these conjuncts as the head of FocP. Having only one
question particle in the matrix clause makes it impossible to have two-question reading
(see Chapter 3 Section 3.2.2.) in Turkish.

Based on these two considerations, | hypothesized that there would be syntactic
transfer from L1 to L2, and the mean scores for YN reading would be significantly
higher than ALT reading. However, the results were exactly the opposite and the mean
scores for YN reading outscored the mean scores for ALT reading (overall and in the
advanced group). Therefore, it seems that there is no syntactic transfer from L1 to L2

whatsoever.
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A possible explanation for why adversative questions with a missing verb in Turkish
do not affect the interpretation of disjunctive questions with the verb missing in one of
the conjuncts is that the two structures are not syntactically related. Note that
disjunctive questions experimentally tested in this study involve a bi-clausal structure
in which the verb is missing in the second conjunct (descriptively corresponding to
backward gapping), while in Turkish the structure | examined has the verb missing in
the first conjunct (descriptively corresponding to forward gapping). This may mean
that the two structures have different enough derivations for the syntactic transfer not
to occur between them. This would be consistent with my analysis from Chapter 3 of
this thesis, that adversative —ise questions in Turkish with a missing verb involve RNR,
with an ATB movement of the shared verb. Note that backward gapping structures in
English cannot be reduced to RNR (since this is incompatible with their word order).
The absence of syntactic transfer from L1 to L2 in this case may be the result of this
fact.
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CHAPTER 5

CONCLUSION

This thesis aimed to propose an analysis of YN questions that contain the adversative
conjunction —(y)sA/—ise in Turkish. The questions that are the focus of the thesis
contain two conjuncts, one of which involves a missing verb, which also happens to
be the rightmost element in the domains. In the existing literature, while some
researchers analyze these sentences as backward gapping (since it is the verb that is
missing in the first conjunct), some others analyze them as Right Node Raising (since
it is the rightmost element that is missing in the first conjunct). The challenge to this
study was to explain the mechanism by which the verb is pronounced only once, but
is interpreted twice in these questions. The question particle ml also needed to have a
wide scope reading, but should be positioned immediately preverbally. Considering
these aspects together, one of the main objectives of this research was to determine
which analysis is the correct one in Turkish. In order to choose among these two
analyses, various facts were taken into consideration: Narrow and wide scope
interpretations in these questions, the size of the conjuncts, the original position of the
question particle ml, and licensing of Negative Polarity Items. In my arguments, |
relied on Ince’s (2009) proposal, which suggests that the questions under discussion
are instances of Right Node Raising. However, unlike Ince, | propose that the Across-

the-Board analysis of RNR is the correct explanation for such sentences.

Another objective of this thesis was to see whether the semantics of comparable

questions in English can be acquired by Turkish learners. The challenge of the

acquisition of these structures in English is the lack of ambiguity of such sentences in

Turkish. While in English, such sentences are ambiguous between the ALT reading

and the YN reading, there is only YN interpretation in Turkish because of the syntactic

make-up of the relevant structures, which might make it difficult to acquire the ALT
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reading in English. In order to test the acquisition of these disjunctive questions in
English, a Semantic Appropriateness Task was administrated to the participants. I
expected the participants to assign significantly higher scores to YN reading
interpretation given that their native language (Turkish) promotes that reading. In other
words, | expected syntactic transfer to take place from L1 to L2. Interestingly, native
speakers of Turkish assigned higher scores to the ALT reading of disjunctive questions
when compared to YN reading interpretation regardless of their proficiency levels.
This might be explained by the underlying differences between the structures in
Turkish and English. While the questions under examination in the experiment have
missing verbs in the second conjunct, their counterparts in Turkish have missing verbs
in the first conjunct. This difference between the structures in the two languages may
be obvious enough to L2 learners for them to not map the gapping questions in English

onto the adversative questions in Turkish, which obviates syntactic transfer.

This study demonstrates arguments for the Across-the-Board analysis of RNR for the
sentences involving disjunctive gquestions with a missing verb. However, there is a
need for further research to see if it is possible to generalize this analysis to declarative
sentences. Similarly, further analysis of similar constructions in different
environments is required to see if ATB Movement analysis of RNR is the correct way
to derive such structures in all environments (e.g., when the constituent that ATB

moves is not the verb, but say, an object). | leave these questions for further research.
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APPENDIX B: INFORMED CONSENT FORM

This study is conducted by Engin Kdse as part of the MA thesis supervised by Assoc.
Prof. Dr. Martina Gracanin Yiiksek. The aim of the study is to establish what semantic
interpretation L2 learners of English assign to sentences containing clausal disjunction.
The participants are required to rate on a scale from 1 to 5 the semantic appropriateness
of sentences given the context provided. Participation is entirely voluntary. No
personal identification information is required in the questionnaire. Your answers will
be kept strictly confidential and evaluated only by the researcher; the obtained data

will be used exclusively for scientific purposes.

The questionnaire does not contain questions that may cause discomfort to the
participants. However, if during participation, you feel uncomfortable for any reason,
you are free to quit at any time. In such a case, it will be sufficient to inform the person
conducting the survey (i.e., data collector) that you have not completed the

questionnaire.

After all the questionnaires have been filled and collected by the data collector, your
questions related to the study will be answered. We would like to thank you in advance
for your participation in this study. For further information about the study, you can
contact Engin Kose, METU (e-mail: engin.kose@metu.edu.tr)

I am participating in this study completely of my own will and am aware that | can
quit participating at any time I want/ I give my consent for the use of the information
I provide for scientific purposes. (Please return this form to the data collector after

you have filled it in and signed it).

Name Surname: Date: Signature:

91


mailto:engin.kose@metu.edu.tr

APPENDIX C: ITEMS OF THE SEMANTIC APPROPRIATENESS TASK

Each of the items you are about to read contains a context (a situation), followed by a
question. Please, read the contexts carefully and then, keeping the context in mind, rate
how well the question fits the given context. (1= Strongly inappropriate,
2=inappropriate, 3= Neither appropriate nor inappropriate, 4= appropriate, 5= Strongly
appropriate).

1) Yesterday, Derek and Jane went to a café near their 1123|415
house. Derek wanted to have cheesecake and Jane
wanted to have coffee. However, once they sat down
to order, they realized they were too expensive, so they
had to change their choices. | wonder what they
decided to order, so | ask:

What did Derek eat and Jane drink?

2) Last weekend, William and Lily wanted to do some 1123415
sports. William wanted to play soccer and Lily wanted
to play volleyball. However, their two-year-old
daughter got sick, so only one of them could go and do
sports. To find out which one, | ask their friend:

Did William play soccer or Lily volleyball?

3) Emily and Thomas are fond of animals, so they were 112|3]4]5
thinking about building shelters for animals in their
garden, to offer them protection from cold weather.
Emily was going to build a bird house and Thomas
was going to build a dog house, but then the weather
got much nicer, so I didn’t not know whether they built
the shelters or not. Thus, | asked their neighbor:

Did Emily build a bird house or Thomas a dog
house?
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4)

Anderson and Taylor are fond of shopping. They
always go to shopping malls and buy new clothes;
Anderson likes t-shirts and Taylor likes suits. Last
month, | heard that they wanted to go to a place to do
shopping again. However, | do not know what
happened in the end. So | asked:

Where did Anderson go to buy t-shirts and Taylor
suits?

5)

Kevin and Peter wanted to create a personalized
present for their mother’s birthday. Kevin was going
to paint a picture and Peter was going to write a song.
However, as they were really short on time, | was not
sure whether they were able to finish them on time or
not. To find out, | asked their sister:

For whom did Kevin paint a picture and Peter
write a song?

6)

Frank and Jessica are really good at writing literary
pieces, so the teacher asked them to write for the
school magazine. Frank was going to write a story and
Jessica was going to write a poem. However, they got
really busy with their midterm exams, so | am not sure
whether they managed to complete their writing tasks.
Therefore, | ask the teacher:

Did Frank write a story or Jessica a poem?

7)

Lara and Chandler work for a news website. During the
interviews, either Lara records the sound or Chandler
shoots a video. Last week, they had an interview with a
celebrity, but I don’t know what happened during the
interview. To find out, | asked their manager:

Why did Lara record the sound and Chandler
shoot a video?

8)

Amelia and Oliver were thinking about volunteering at
a charity event for homeless people. However, one of
them needed to stay home to take care of the children.
So, either Amelia was going to bake cakes or Oliver
was going to bake cookies. To learn what happened in
the end, | asked the organizer:

Did Amelia bake cakes or Oliver cookies?
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9) | know that John and Mary needed money last year.
John was thinking about selling his car and Mary was
considering selling her motorcycle, but | forgot whether
or not they managed to do either of those things and get
the money. Thus, | asked a friend:

Did John sell his car or Mary her motorcycle?

10) Brian and Carol attend extracurricular activities at
school: Brian goes swimming and Carol plays tennis.
However, | heard that they could not do sports on
Monday last week. It was either because of the
national holiday, or because of the bad weather. To
find out what the actual reason is, | asked:

Why didn’t Brian go swimming and Carol play
tennis?

11) Simon and Phoebe have a summer house on a remote
island. Their water comes from a tank behind the
house, so they have a limited supply. They typically do
not have enough water for the housework. So every
day, either Simon does the laundry or Phoebe washes
the dishes. | wanted to learn which one happened
yesterday, so | asked their son:

Where did Simon do the laundry and Phoebe wash
the dishes?

12) Emma and Liam are successful students and they
always get high scores in exams. Both of them have
different study routines. Emma likes studying at the
library every evening and Liam likes solving tests
twice a week. However, | heard that they both got low
scores in their last exam. As | was not in town at the
time, | asked their mother:

How often did Emma study at the library and Liam
solve tests?

13) Logan and Mia go to work using different ways of
transportation. While Logan prefers getting on a bus,
Mia takes a taxi. However, | heard that last month they
bought a car, so I do not know how they went to work
yesterday. | asked their colleagues:

How often did Logan get on a bus or Mia take a
taxi?
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14) Smith and Barbara went on a three-day trip to
Moscow. | know that Smith wanted to visit the
Kremlin and Barbara wanted to visit the Bolshoi.
However, they only had enough money to do one of
those things and | am not sure which one they did. |
ask their friend:

Did Smith visit Kremlin or Barbara the Bolshoi?

15) Wilson and Jones are farmers in a small village. They
grow fruit trees to make a living. However, last year
the trees did not yield much fruit because of the
drought, so they found new jobs. Wilson herded
animals and Jones did gardening in other villages.
However, | am not sure if they were able to earn
enough money. To find out, I asked their neighbor:
Did Wilson like herding animals or Jones get used
to do gardening?

16) Kevin and Eve wanted to learn languages but they
only had enough money for one of them to go to a
language school. Either Kevin was going to learn
Finnish or Eve was going to learn Russian, yet [ don’t
know which one did in the end. To find out, | asked
their friend:

Did Kevin learn Finnish or Eve Russian?

17) George and Megan had a lot of free time because they
were on holiday. They both wanted to spend their time
playing games. George wanted to play SIMS and
Megan wanted to play FIFA. However, | think their
computers may have broken down, so | do not know
whether they did or did not manage to play. |,
therefore, asked their mother:

Did George play SIMS or Megan FIFA?

18) Margaret and Samantha decided to go on holiday to
the Bahamas. They were planning to spend as little
money as possible for accommodation since they had a
limited budget, so they considered cheap options.
Therefore, Margaret bought a tent and Samantha found
a cheap hostel. To find out about how much they
spent, | asked a friend:

How much money did Margaret pay for a tent and
Samantha for a cheap hotel?
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19) John and Mary worked really hard this year, and they
finally decided to go for a vacation. To find a place of
destination, either John was going to call agencies or
Mary was going to look online, but I don’t know
which one happened in the end. So, | asked:

Did John call agencies or Mary look online?

20) Susan and Maria are wonderful cooks. Every month,
we gather at a friend’s house and eat their dishes. For
each occasion, they cook delicious things. Susan is
good at dishes with chicken and Maria at dishes with
beef. However, I could not attend our meeting last
week, so do not know what happened. To find out
what the ingredients were, | asked my friends:

What did Susan roast chicken and Maria grill beef
with?

21)Roy and Lee are brilliant scientists and often invent
things to ease our daily life. Last week, they came up
with a new gadget and started to work on it. Roy was
dealing with the design and Lee was trying to fix
mechanical problems. However, | do not know what
happened in the end. So | asked:
Did Roy invent the gadget or Lee search online for a
solution?

22) Julia and Dwayne took care of a friend’s daughter for
a while. They were doing everything to entertain her
during her stay. At some point, the girl was so upset
that Julia considered painting her face and Dwayne
considered doing an imitation. As | had to leave early,
I could not see if they did or did not. So | asked the
girl:

Did Julia paint her face or Dwayne do an
imitation?

23) Sally and Nick love their friend abroad, and like to
communicate with him. When they want to contact
him, they prefer different ways. Sometimes Sally
sends an e-mail, and sometimes Nick makes a phone
call. However, | do not know how they did it the last
time. To find out, | asked their friend:

Why did Sally send an e-mail and Nick make a
phone call?
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24) Eric and Stan love being on the stage. When they get
drunk, Eric sings and Stan dances. Last week, | was at
a party at a famous club with them. However, since |
was also drunk during the party, | do not recall
whether they did their favorite activity or not. So, |
asked Eric’s girlfriend:
Where did Eric dance and Stan sing?
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APPENDIX D: TURKISH SUMMARY/TURKCE OZET

Giris
Teorik Calisma

Bu tezin odak noktasi ‘-ise’ ¢elistirici baglacini i¢eren eksiltili evet-hayir sorularidir.

Tiimce (1)’de bu tip sorular i¢in bir 6rnek gosterilmektedir.
1. Alielma Ayse ise armut mu yedi?

Bu tiimcede iki tiimcecigi birbirine baglayan bir ¢elistirici baglaci (ise), iki 6zne (Ali
ve Ayse), iki nesne (elma ve armut) ve her iki tiimcecik tarafindan paylasilan bir de
fiil vardir. Bu tip tiimceler bazi sebeplerden dolay1 anlambilim ve s6zdizim agisindan
kafa karistiric1 olabilmektedir. ilk olarak, bu tiimcelerdeki soru pargacigi ‘ml’ genis
acili gibi gorinmektedir. Bir bagka deyisle, ‘mI’ hem ana tiimceyi hem de her iki
tiimcecigi de etki alanina almaktadir. Bu sebeple, bu tip tiimcelerde segenekli okuma
ya da yorumlama miimkiin degildir ¢iinkii bu tip bir yorumlama i¢in tiimcede iki ayri
soru tiimcecigl olmalidir. Bundan ziyade, iki ayri olay: ilgilendiren tek bir soru
bulunmaktadir. Bu da demek oluyor ki tiimce (2)’de verilen okuma mevcut degilken,

tiimce (3)’de verilen okuma, tek dogru okumadir.

2. #Ali elma mi1 yedi yoksa Ayse armut mu yedi? ?® *Secenekli Soru

3. Ali elma Ayse armut mu yedi? Evet-hayir Sorusu

Fakat bu noktada ‘mI’ soru pargacigmin tiimcedeki konumu 6nemli bir role sahip
olmaktadir. Bu tip tlimcelerin kafa karistirici olmasinin bir sebebi, ‘mI’ soru
parcacigmin tiimce i¢inde fiilden 6nceki 6ge oldugu durumlarda aslinda genis ag1l1 bir
etki alanina sahip olmamas1 gerekir. Bunun yerine, asagida goriilen iki dar okumadan

biri olmas1 gerekir:

% Anlamsal olarak uygun olmayan tiimceler (#) isareti ile gosterilmektedir.
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4. #Ali elma yedi, Ayse’nin yedigi ise armut mu?

5. #Ali elma yedi, Ayse ise armut mu yedi?

Bu iki okumada da iki tlimcecigi ayni anda etki alanina alamadigi i¢in dizim agacinda
daha ytiiksek bir konumda olmas1 gerekir. ‘mI” soru pargacigi genis etki alanina sahip
olmak i¢in bu konumun tiimce iginde agik tiimleyici oldugu diisiiniilebilir. Fakat ‘mI’
soru parcaciginin agik tiimleyici konumunda olmasi igin tiimce sonunda olmasi
gerektigi icin bu konumda olmadigi da su gotiirmez bir gercektir. Bu sebeple, bu tezde
yapilan analize gore, ‘ml’ soru pargacigi her iki tiimcecigin {istiinde iiretilerek bu iki
tiimcecigi etki altina alir ve kutuplanma basina eklenir. Her iki tiimcecik tarafindan
paylasilan fiil ise Baglak Disina Tagsima yoluyla her iki tiimcecigin de tstiine gegerek
tiimce sonuna tasinir. Bu durumda, hem ‘mI” soru parcacigi hem de tiimcecikler dizim

agacinda fiilin altinda kalir.

En bagta bahsedilen ‘-ise’ ¢elistirici baglacini igeren eksiltili evet-hayir sorularindaki
kafa karistirict kapsam ve ‘ml’ soru ekinin tiiretilmesi problemlerini ¢6zmeden evvel
konuyu daha detayli anlamak ve problemleri daha acik bir sekilde gormek icin
bildirme tiimcelerinin incelenmesi gerekir. Timce (6) bahsedilen &zellikleri

tasimaktadir ve alanyazinda geri dogru bosaltma olarak analiz edilmistir.
6. Ali elma Ayse ise armut yedi.

Bosaltma dil fark etmeksizin sadece esbagimli yapilarda gergeklesir ve esbagimlilik
iligkisi i¢inde olan tiimceciklerden birindeki fiillerden birinin telaffuz edilmemesi
olarak agiklanabilir. Bosaltma yapilarmin iki farkli cesidi vardir. Ingilizce’de sadece

one dogru bosaltma bulunmaktadir ve geri dogru bosaltma dilbilgisidisidir.

7. John loves apples and Mary bananas.

8. *John apples and Mary loves bananas. 2

Ote yandan, Tiirkce hem 6ne dogru hem de geri dogru bosaltma yapilarma izin

vermektedir.

9. Hasan karidesi yedi Mehmet de istiridyeyi.

% Dilbilgisidis1 yapilar (*) isareti ile gosterilmektedir.
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10. Hasan karidesi Mehmet de istiridyeyi yedi.

Fakat alanyazinda bu iki tiimcenin (9-10) Tiirk¢e’de tiimcedizimsel olarak farkl

oldugu belirtilmistir.

Ik olarak, geri dogru bosaltma tiimlec tiimceciklerinde dilbilgisine uygun olarak yer
alabiliyorken 6ne dogru bosaltma bu tip tiimceciklerde dilbilgisidisidir. Tiimce (11) ve
Tiimce (12) bahsedilen konuyu 6rneklemektedir.

11. [Ahmet, [Hasan’1n ¢ikolatayi] [Mehmet’in de armudu yedigini] biliyor.]
12. *[Ahmet, [Hasan’1n ¢ikolatay1 yedigini] [Mehmet’in de armudu] biliyor.]

Ikinci olarak, geri dogru bosaltma paralel sozciik dizilisi gerektiriyorken, 6ne dogru
bosaltma i¢in bu tiir bir gereklilik bulunmamaktadir. Timce (13) ve (14) bahsedilen

konuyu 6rneklemektedir.

13. *[[Adam kitab1], [dergiyi de cocuk okudu.]]
14. [[Adam kitab1 okudu], [dergiyi de ¢ocuk.]]

Bu iki sebebe dayanarak, Hankamer (1972) bu iki yapiin soézdizimsel olarak ayni
olmadigini ileri siirerek geri dogru bosaltma yapilart i¢in daha farkli bir analiz
sunmaktadir. Ona gore, geri dogru bosaltma yapilarinda ilk tiimcecikteki fiili silmek
yerine her iki tiimcecikte ayni sekilde bulunan fiiller silinerek dizim agacinda daha
yukarida bir konuma taginmaktadir. Hankamer’in (1972) analizine gore bu yapilar Sag

Budak Yikseltme olarak adlandirilmaktadir.

Sag Budak Yiikseltme bosaltma yapilarindan farkli olarak sadece fiillere degil diger
Ogelere de uygulanabilmektedir. Bu yapilarda her iki tiimcecik tarafindan paylasilan
ortak 6ge iki defa telaffuz edilmek yerine yalnizca bir kez telaffuz edilmektedir. Sag
Budak Yiikseltme yapis1 i¢in bir 6rnek asagida gosterilmektedir.

15. [[John baked | and [I ate your birthday cake.]]

Sag Budak Yiikseltme yapisinin en 6nemli 6zelligi, ortak olarak her iki tiimcecikte de
bulunan dgenin, bulundugu tiimcecigin en sagindaki 6ge olmasidir. Ornegin, Tiimce
(15)’te your birthday cake ‘senin dogum giinii pastan’ her iki timcecik i¢inde de en

sagda bulunmaktadir.
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Tiimce (16)’de goriildiigii iizere, Ingilizce’nin temel sozciik dizilisine gore en sagdaki
Oge nesnedir. Tiirk¢e’de ise, temel sozclik dizilisine gore bu 6ge genellikle fiil

olmaktadir.
16. [[Ahmet hediye |, [Sevgi para verdi.]]

Bu 6zelliginden dolay1, Tiirk¢e’de geri dogru bosaltma gibi goziiken tiimceler aslinda
Sag Budak Yiikseltme olarak da incelenebilmektedir. Bu sebeple Sag Budak

Yiikseltme yapilarinin daha detayl bir sekilde incelenmesi gerekir.

Alanyazinda Baglak Disina Tasima, Sesbilimsel Bi¢im Eksilti ve Coklu Basatlik

olmak iizere 3 farkli Sag Budak Yiikseltme analizi bulunmaktadir.

Baglak Disina Tasima’da 6zdes ogeler baglaklarin her ikisinden de silinerek dizim

agacinda saga dogru daha yiiksek bir konuma taginir.

Bu analiz, mevcut tezde bahsi gegen diger iki analize (Sesbilimsel Bigim Eksilti ve
Coklu Basatlik) tercih edilmektedir. Bu secime sebep olan detayli bilgiler ilerleyen

boliimlerde verilmektedir.

Sesbilimsel Bigim Eksilti’de ise tiimceler eksilti yoluyla tiiretilmektedir. Bu yapilarda
iki 6zdes dgeden biri silinir ve Baglak Disina Tagima’nin aksine herhangi bir tasinma

yoktur.

Coklu Basatlik’ta da herhangi bir tasinma yoktur. Buna ek olarak, Baglak Disina
Tasima ve Sesbilimsel Bi¢im Eksilti’den farkli olarak tiimcede ortak olarak kullanilan

oge iki degil yalnizca bir defa goriilmektedir.

Bu noktada sorulmasi gereken soru sudur: Geri dogru bosaltma olarak adlandirilan

yapinin aslinda Sag Budak Yiikseltme olarak incelenmesi daha m1 dogrudur?

Onceden de belirtildigi iizere temel sozciik dizimine bakilirsa tiimceciklerin en
sagidaki 6ge Tiirkce’de daima fiil olmaktadir. Bu da geri dogru bosaltma yapilarini
Sag Budak Yiikseltme yapilarina fazlaca benzetmektedir. Buna ek olarak, 6ne dogru
bosaltma ve geri dogru bosaltma yapilarinin paralel sézciik dizimi ve timleg
tiimceciklerindeki incelemeleri de bu iki yapinin aslinda birbirinden farkli oldugunun

bir bagka kanitidir.
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Mevcut tezde yapilan caligsmalara gore, ‘-ise’ gelistirici baglacini igeren eksiltili evet-
hayir sorular1 icin dogru analiz Ince’nin (2009) &ne siirdiigii Sesbilimsel Bigim
Eksilti’den ziyade Baglak Dismma Tasima’dir. Bu diisiinceyi destekleyen iki ana

argliman mevcuttur.

Sesbilimsel Bi¢im Eksilti’ye kars1 6ne siiriilen ilk argiiman, bahsi gecen tiimcelerde

ml” soru parcacigimin ilk tiimcecikte parcacik ayristirma yoluyla tek basina

birakilamamasidir. Tiimce (17) bu sebeple dilbilgisidisidir.
17. *Ali elma m1 Ayse ise armut mu yedi?

Bu tiimcenin dilbilgisidigi olmasini agiklamak i¢in ml soru parcaciginin fiil veya fiil
Obeginden ayrilamayacak bir sekilde bagli oldugu ileri siiriilebilir. Ancak Tiimce (18)

bunun dogru olmadigin1 gostermektedir.
18. Ali bugiin geldi Ayse diin mii?

Bu tiimceler aslinda ‘mI’ soru pargacigiin aslinda bu tiir timcelerde higbir zaman

baglak icinde tiiretilmedigini gostermektedir.

Sesbilimsel Bi¢im Eksilti’ye karsi one siiriilen ikinci argliman ise ‘mI’ soru
parcacigmin etki alanidir. Sesbilimsel Bi¢im Eksilti analizine gore her baglakta bir
tane ‘ml’ soru pargacigi tiiretilmesi gerektiginden, ana tiimcede bir soru okumasi
olmasi gerekirken iki soru okumasina yol agmaktadir. Ancak dogru okuma tek sorudan
olustugu i¢in Sesbilimsel Big¢im Eksilti bu kuruluslart aciklamak i¢in yetersiz

kalmaktadir.

Bu argiimanlar bizlere iki sey goOstermektedir. Birincisi, ‘ml’ soru parcacigini
ayristiramadigimiz icin baglaklardaki fiilin basit¢e silindigini sdylemek yanlistir.
Ikincisi ise, bu soru pargacig tiimcenin yorumlamasindan dolay: ilk baglakta
tiiretilmemektedir. Bunlara dayanarak, Baglak Disina Tasima’nin Sesbilimsel Bigim

Eksilti’ye gore daha dogru bir analiz oldugunu sdylemek yanlis olmaz.

Sorulmasi gereken ikinci soru ise; eger Baglak Disina Tasima analizini dogru kabul

edersek, tiimcelerdeki baglaklarin boyutu ne kadar biiyiiktiir?
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Buna karar vermek i¢in tiimcemizi farkli ¢evrelerde gérmemiz gerekmektedir. Bu
tiimceleri analiz etmek i¢in en uygun g¢evrelerden biri igeyerlesik sorulardir. Tiimce

(19) bu tiir timcelere bir 6rnek olarak gosterilebilir.

19. [Ayse [Ali’nin okula ] [Mehmet’in ise eve mi ] gittigini
sordu?/.]

Tiimce (19) hem bildirme timcesi hem de soru tiimcesi olarak yorumlanabilmektedir.
‘ml’ soru parcacigi soru tiimcesi yorumlamasinda ana tiimcede tiiretiliyorken, bildirme
tiimcesi yorumlamasinda igeyerlesik tliimcecikte tiiretilmektedir. Mevcut tezde odak
noktasi soru parcaciginin igeyerlesik tiimcecikte tiiretildigi durumlar oldugu igin

bildirme tiimcesi daha detayli olarak incelenmektedir.

Kural (1993) ve Aygen-Tosun’a (1998) gore, Tiirkge s6zdiziminde fiiller daima zaman
ekini aldiktan sonra tiimleyici konumuna taginir. Buna dayanarak, Tiimce (19)’te git-
fiili zaman ekini ‘-#i” alarak tiimleyici konumuna tasmir. igeyerlesik tiimceciklerde
fiilin tiimleyici konumunu almasi, bu tiimceciklerin aslinda birer tiimleyici obegi

oldugunu gostermektedir.

Teze konu olan tiimcelerdeki baglaklarin tiimleyici 6bek oldugunun bir bagka kaniti
da olumsuz kutuplanma birimleridir. Tiirk¢ede hi¢ gibi bazi olumsuz kutuplanma
birimleri sadece ‘ml’ soru pargacigi tlimleyici konumundayken kullanilabilir. Tiimce

(20a/b) bu durumu 6rneklendirmektedir.

20. a. *Hasan hi¢ Amerika’ya geldi.
b. Hasan hi¢ Amerika’ya geldi mi?

Bu da demek oluyor ki olumsuz kutuplanma birimlerini teze konu olan tiimcelerde
kullandigimizda baglaklarin boyutu hakkinda daha iyi fikir sahibi olabiliriz. Tiimce

(21)’de bu birimler tiimcelere eklenmistir:
21. *Ali hi¢ elma Ayse ise hi¢ armut mu yedi?

Tiimce (21) olumsuz kutuplanma birimleri eklendiginde dilbilgisidisi oldugu i¢in ‘mI’
soru parcacigiin tiimleyici konumunda olmadig agik¢a goziikmektedir. Bu da bir

onceki boliimde One siiriilen analiz ile uyumludur.
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Ozetle, baglaklar icinde tiiretilen fiiler tiimleyici konumuna tasmarak baglaklari
tiimleyici Obek yaparken, ‘ml’ soru pargacigi da daha yukarida tiiretilerek bu iki

baglagi etki altina almaktadir.
M1 Soru Parcacigr Nerede Tiiretilmektedir?

Bu noktada ‘mI’ soru parcaciginin tam olarak nerede tiiretildigi sorusu karsimiza
cikmaktadir. Bu soruya cevap vermek icin su ana kadar yapilan gozlem, analizler ve

alanyazina bakilmalidir:

. Tiirkce sdzdiziminde fiiller tiimleyici konumuna taginmaktadir.

ii. Besler (2000) ve Ozyildiz’a (2015) gore, ‘mI’ soru parcacig: tiimleyici
Obeginin basi olarak tiiretilemez.

iii. Olumsuz kutuplanma birimleri, ‘ml’ soru pargacigi tiimleyici konumuna

tasinmadig1 durumlarda tiimcelerde dilbilgisidisiliga yol acar.

Tiim bu gozlem ve analizleri géz oniine aldigimizda, ‘mI’ soru pargaciginin ekonomik
olarak tiiretildigi ve gerektiginde farkli konumlara tasinabildigi bir analiz ortaya
koyulmas1 gerekmektedir. Bu da, ‘ml’ soru pargaciginin kutuplanma o6beginde
olmastyla miimkiin olmaktadir. Boylelikle, sdzciik dizimi, ‘mI” soru pargaciginin etki

alan1 ve baglaklarin boyutu dogru bir sekilde elde edilmis olmaktadir.

Bu noktada fiilin konumu, fiil bir bas olarak tiimleyici konumuna tasindigi i¢in kafa
karistirici olabilir. Baglar taginirken bas tagima kisitlamasina uymasi gerektigi igin,
‘ml’ soru parcaci@int kutuplanma bas1 olarak kabul edilmesi istedigimiz sozciik
dizimini elde edemedigimiz anlamina gelmektedir. Ciinkii bu durumda fiil 6nce
kutuplanma bas1 konumuna, ardindan da tiimleyici bagi konumuna tasinir. Bu durumda

sozcuk dizimi su sekilde olmaktadir.
22. Emre siir Mine ise dergi okudu mu?

Bu sebeple, ‘mI’ soru pargaciginin, kutuplanma basi olmak yerine kutuplanma basina

eklendigini soylemek daha dogru olur.

Bu analizlerin her birbirini birlestirdigimizde, (23)’te ‘-ise’ ¢elistirici baglacini iceren

eksiltili evet-hayir sorularinin tamamlanmis analizini elde etmis oluruz.
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23. FocP

FocP okudu
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_- _
Deneysel Calisma

Bu tezde yiiriitiilen deneysel calismanin amaci Ingilizceyi yabanci dil olarak 6grenen
ve anadili Tiirk¢e olan 6grencilerin, ana dillerindeki yapilar1 hedef dillere ne kadar
aktardigim tespit etmektir. Bu noktada 6nem arz eden durum, bahsi gegen iki dil
arasinda eksiltili evet-hayir soru yapilarinin yapisal farkliliklarinin olmasidir. Bu tip
sorularda Tiirkge’de sadece evet-hayir okumasi elde ediliyorken, Ingilizce’de hem

evet-hayir hem de se¢enekli okuma miimkiin olmaktadir.
Tezin sorunsali da tam olarak bu noktada devreye girmektedir:

Anadili Tirkce olan Ogrenciler, kendi anadillerinde eksiltili evet-hayir sorularinda

bulunmayan secenekli okumay1 ne derecede yorumlayabilmektedir?

Bu sorunsal igin mevcut varsayim ise, Ingilizce 6grenen anadili Tiirkge olan
ogrencilerin segenekli okumay1 yorumlamakta giicliik cekecegi ve yapilan testlerde bu

okumalara daha diisiik puanlar verecegidir.

Bu sorunsal i¢in benim varsayimmm, katilimcilarin Ingilizce baglamlarda segenekli

okuma ve evet-hayir okumalari i¢in ayrim yapmakta zorlanacaklariydi ve secenekli
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okumalara diisiik puanlar verecekleriydi. Bu diisiincenin sebebi; mevcut tiimcelerde

bulaniklik olmasiydi.
Arakesitler

Arakesit terimi  hem dilbilim teorisinde hem de edinim teorisinde sikca
kullanilmaktadir. Dil; sesbilim, sozliikge, s0zdizim, bigimbilim, anlambilim,
edimbilim gibi farkli modiillerin birbiriyle etkilesimiyle olugmaktadir. Arakesit ise bu

etkilesime verilen ad olarak tanimlanabilir.

Ikinci dil 6grenenler, bu modiillerden bazilarinda ileri seviyede bir bilgiye sahip
olurken bir baskasinda daha temel seviyede bilgiye sahip olabilir. Ornegin, tipik
olarak, Ingilizce’yi ikinci yabanci dil olarak &grenen Tiirk Ogrenciler, sozdizim
konusunda daha az problem yasiyorken, sesbilim ya da edimbilim konusunda daha
fazla problem yasayabilir. Fakat alanyazinda, herhangi bir arakesit igermeyen,
yalnizca bir modiili ilgilendiren problemlerin daha kolay c¢oziilebildigi rapor
edilmektedir (Sorace, 2005). Ote yandan, sdzdizim-anlambilim ya da sozdizim-
sesbilim gibi iki modiiliin etkilesiminin gerektigi durumlarin dil 6grenenler i¢in daha
fazla problem olusturdugu ortaya konmustur. Bu durum alanyazinda Arakesit
Varsayimi olarak adlandirilmaktadir ve ikinci dili anadili seviyesinde konusan
ogrencilerde bile bu tip problemlerin devam edebilecegi vurgulanmaktadir. Ancak
bahsi gecen Arakesit Varsayimi her bilesen i¢in ayni oranda zorluga sebep olmaz.

White (2011) Arakesit Varsayimin ikiye ayrir: Igsel Arakesit ve Digsal Arakesit.

White’a (2011) gore, digsal arakesitler (6rnegin; s6zdizim-edimbilim) dil edinimi igin
daha fazla zorluga sebep olmaktadir. Bu tip durumlarda, 6grenmede gecikme
yasanmasi daha muhtemeldir. Igsel arakesitler (rnegin; sézdizim-anlambilim) ise
nispeten daha az probleme sebep olur ve problemler yasansa dahi daha hizli bir sekilde

¢oziilebilir.

Bu tezde, White’in (2011) varsayimini test etmek i¢in Anlambilimsel Uygunluk Testi

uygulanmstir.
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Yontembilim
Calisma

Tezin bu boliimii, uygulanan deneysel calismay1 6zetlemektedir. Caligmada yer alan
katilimcilar, araglar, veri toplama, veri analiz yontemleri ve sonuglar bu béliimde yer

almaktadir.
Katilimcilar

Bu tez ¢aligmasinda 2 deneysel grup kullanildi. Katilimeilarin tamami Orta Dogu
Teknik Universitesi Ingilizce Ogretmenligi 1. Siif dgrencileri olup, dil yeterlik
seviyelerine gore gruplandirildilar. Bu gruplandirma, Oxford Universitesi Yayinevi
tarafindan hazirlanan yeterlik sinavi (OPT) ile belirlendi. Uygulanan yeterlik sinavi
sonuclarina gore, 60 tam puan lizerinden 39 ya da daha az soruyu dogru cevaplayan
katilimcilar orta seviye olarak degerlendirilirken, 40-47 soruya dogru cevap veren
katilimcilar, orta-iistii seviye, 48 ya da daha fazla soruya dogru cevap verenler ise ileri
seviye Ingilizce bilen grup olarak degerlendirilir. Bu kriterlere dayanarak, calismada
22 orta-listii, 29 ileri seviye yeterlige sahip katilimci yer aldi. Calisma goniilliik esasina

dayanilarak yiirtitiildi.
Arastirma Deseni
Araclar

Calismada 2 farklh liste kullanilarak olusturulan Anlambilimsel Uygunluk Testi
kullanild1. Her iki listede de 8 deneysel 16 ¢eldirici 6zellikte soru kullanildi. 8 deneysel
soruda kullanilan baglamlardan 4 tanesi segenekli okuma, 4 tanesi de evet-hayir okuma
ile olusturuldu. Yapilan testte katilimcilar, bir adet baglamla birlikte verilen sorularin
anlambilimsel olarak baglama ne kadar uygun oldugunu belirlediler. Bu
degerlendirme, katilimcilar tarafindan 1-5 arasinda verilen puanlamalarla yapildi. 1

“hi¢ uygun degil” anlamina geliyorken, 5 “tamamiyla uygun” anlamina geliyordu.
Yontem

Tiim testler, yalnmizca kagit-kalem kullanilarak sinif ortaminda uygulandi. Katilimeilar,

once onay formunu doldurdu, ardindan da deneysel testler uygulandi. Testler yaklasik
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olarak 15 dakika strdii.
Verilerin incelenmesi

Veri toplama siirecinin ardindan, iki liste tek bir listede toplanarak analiz i¢in SPSS
23.0 programina girildi. Verilerin girilmesinin ardindan se¢enekli okuma ve evet-hayir
okumalarmin ortalama puanlar1 hesaplandi. Bu iki puan arasinda istatistiksel olarak
fark olup olmadigini belirlemek i¢in t-testi yapildi. Daha sonra iki farkli beceri diizeyi
arasinda istatistiksel olarak fark olup olmadigin1 belirlemek i¢in Eslestirilmis
Orneklemler t-testi uygulandi. Ayrica, ¢eldirici sorularda toplamda 5 iizerinden 3.5 ya
da daha az puan alan katilimcilar testin giivenilirligini artirmak i¢in analizlere dahil
edilmedi. Bu yiizden, ileri gruptan 3 katilimci, orta-iistli gruptan ise 5 katilimci

analizlerden ¢ikarildi.
Bulgular ve Sonug¢

Yapilan testler sonucunda varsayimlar kismi olarak dogrulandi. Katilimcilarin tamami
(yeterlik seviyesi ayirt etmeksizin) incelendiginde, se¢enekli okuma ve evet-hayir
okuma arasinda istatistiksel olarak bir fark bulundu t(38) = 3.19, p = .003). Bu da
varsayimimla paraleldi. Ancak beklenenin aksine, testin sonuglar1 evet-hayir soru
okumalariin degil segcenekli soru okumalarinin puanlarinin daha yiiksek oldugunu
gosterdi. Bu noktada ilk akla gelen, ¢ikan bu sonucun orta-listi gruptan
kaynaklandigiydi. Bu varsayimin dogrulugunu test etmek i¢in ileri ve orta-iistii grup
ayri ayri t-test’lere tabi tutularak analiz tekrar edildi. Ancak bu analizin sonucu da ilk

yapilandan farkli olmadi.
Genel Tartisma

Bu calismada amag; -ise celistirici baglacini igeren eksiltili evet-hayir sorularinda,
‘ml’ soru parcaciginin genis etki alanina sahip oldugu ve her iki baglag: da etki altina
aldig1, bunu yapiyorken de tiimcede kullanilan fiilden énce konumlandig: bir analiz
elde etmekti. Bu analizi elde etmek i¢in, dar ve genis etki alanlari, baglaklarin boyutu,
‘ml” soru pargaciginin ilk olarak tiiretildigi yer ve olumsuz kutuplanma birimleri
kullanilmistir. Sonug olarak; Tiirk¢ce’de hedef tlimcelerde, geri dogru bosaltma gibi
goziiken yapilarim aslinda Sag Budak Yiikseltme oldugu saptanmistir. Deneysel

calismada ise herhangi bir modiil arasinda bir aktarim olmadig1 gozlemlenmistir.
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Elbette yapilan calismanin bazi kisitlamalari da bulunmaktadir. Yapilan c¢alisma,
sadece -ise gelistirici baglacini igeren eksiltili evet-hayir sorular1 iizerinde
yuriitilmistir. Baglak Disina Tasima analizi bu tiir tiimceler i¢in dogru
goziikkmektedir ancak bu analizi diger tiim tlimce tiirlerine genellemek yanlis olacaktir.
Bu sebeple, gelecekteki ¢aligmalarda Baglak Digina Tasima analizinin sadece soru
tiimcelerinde degil, ayn1 zamanda bildirme tiimceleri gibi tiimcelerde de dogru olup
olmadigina bakilmasi gerekmektedir. Bununla birlikte, gelecekte yapilan ¢aligmalarda
fiillere ek olarak nesneler ve diger 6gelere de bakilmasi, analizlerin genellenebilirligi

acisindan daha saglikli olacaktir.

Deneysel calismada ise Ingilizce’yi ikinci dil olarak 6grenen Tiirk katilimcilarin kendi
anadillerinde bulunmayan okumalar1 hedef dilde tespit edip edemeyecekleri test edildi.
Normal sartlar altinda, dzellikle Ingilizce seviyesi yiiksek olan grubun bu ayrimi orta-
istli gruba kiyasla daha iyi yapmasi beklenebilir. Bu beklentinin birinci sebebi,
calismada yer alan ve arakesitin i¢sel olmasi ve i¢sel arakesitlerin digsal arakesitlere
kiyasla daha az problemli olmasi olabilir. Ancak benim varsayimim, ¢alismada yer
alan baglam ve sorularda yapisal ve anlamsal bulaniklik olmasi sebebiyle
katilimcilarin okumalar1 dogru sekilde puanlamada zorluk yasayacagiydi. Bu varsayim
icin bir bagka sebep ise, katilimcilarin kendi anadillerinde bahsi gegen anlamsal
bulanikliin olmamasiydi. Bu iki varsayima dayanarak, calismada yer alan sorular igin
evet-hayir okumalariin, katilimeilarin yeterlik seviyelerinden bagimsiz olarak daha
yiiksek puan alacagi bekleniyordu. Ancak bu beklentiler karsilanmadi ve evet-hayir
okumalar1 segenekli soru okumalarma kiyasla daha az kabul edilebilir olarak

puanlandi. Bu beklenmedik sonucun sebebi su olabilir:

Calismaya konu olan Ingilizce sorularda eksiltilen fiil ikinci baglakta yer aliyorken,
Tiirkge sorularda eksiltilen fiil birinci baglakta yer almaktadir. Bir baska deyisle,
Tirkge’deki tlimceler yiizeysel olarak geri dogru bosaltma gibi goziikiiyorken, testte
kullanilan Ingilizce tiimcelerin 6ne dogru bosaltma gibi goziikmektedir. Bu da,

katilimcilarin s6zdizim aktarmasi yapmamasina yol agmis olabilir.
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